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 201 
fo"k; % fgUnhfo"k; % fgUnhfo"k; % fgUnhfo"k; % fgUnh    

Subject : HINDI 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&    

    (i)    lHkh iz’u gy djuk vfuok;Z gSlHkh iz’u gy djuk vfuok;Z gSlHkh iz’u gy djuk vfuok;Z gSlHkh iz’u gy djuk vfuok;Z gSAAAA    

    (ii)        izR;sd iz’u ds fy, vkoafVr vad mlds lEeq[k vafdr gSaAizR;sd iz’u ds fy, vkoafVr vad mlds lEeq[k vafdr gSaAizR;sd iz’u ds fy, vkoafVr vad mlds lEeq[k vafdr gSaAizR;sd iz’u ds fy, vkoafVr vad mlds lEeq[k vafdr gSaA        

    (iii)  iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;siz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;siz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;siz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd ds fy, ,d&,d vad fu/kkZfjr d ds fy, ,d&,d vad fu/kkZfjr d ds fy, ,d&,d vad fu/kkZfjr d ds fy, ,d&,d vad fu/kkZfjr 

gSgSgSgSAAAA    ¼5 ¼5 ¼5 ¼5 ××××    5 5 5 5 =    dqy 25 vad½dqy 25 vad½dqy 25 vad½dqy 25 vad½    

    (iv)  iz’u Øekad 6 ls 16 rd vfry?kqÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaA iz’u Øekad 6 ls 16 rd vfry?kqÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaA iz’u Øekad 6 ls 16 rd vfry?kqÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaA iz’u Øekad 6 ls 16 rd vfry?kqÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaA 

¼’kC¼’kC¼’kC¼’kCnlhek &nlhek &nlhek &nlhek &    20 'kCn yxHk20 'kCn yxHk20 'kCn yxHk20 'kCn yxHkx½x½x½x½    

    (v)        iz’u Øekadiz’u Øekadiz’u Øekadiz’u Øekad    17 ls 19 rd y/kqmÙkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZ17 ls 19 rd y/kqmÙkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZ17 ls 19 rd y/kqmÙkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZ17 ls 19 rd y/kqmÙkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZfjr gSaA fjr gSaA fjr gSaA fjr gSaA 

¼’kCnlhek & 40 'kCn yxHk¼’kCnlhek & 40 'kCn yxHk¼’kCnlhek & 40 'kCn yxHk¼’kCnlhek & 40 'kCn yxHkx½x½x½x½    

    (vi)        iz’u Øekadiz’u Øekadiz’u Øekadiz’u Øekad    20 ls 25 rd nh/kZmÙkjh; iz’u gSaA izR;sd ds fy, 4 vad fu/kkZ20 ls 25 rd nh/kZmÙkjh; iz’u gSaA izR;sd ds fy, 4 vad fu/kkZ20 ls 25 rd nh/kZmÙkjh; iz’u gSaA izR;sd ds fy, 4 vad fu/kkZ20 ls 25 rd nh/kZmÙkjh; iz’u gSaA izR;sd ds fy, 4 vad fu/kkZfjr gSaA fjr gSaA fjr gSaA fjr gSaA 

¼’kCnlhek & 75 'kCn yxHk¼’kCnlhek & 75 'kCn yxHk¼’kCnlhek & 75 'kCn yxHk¼’kCnlhek & 75 'kCn yxHkx½x½x½x½    

    (vii) iz’u Øekadiz’u Øekadiz’u Øekadiz’u Øekad    26 ,oa 27 rd nh/kZ26 ,oa 27 rd nh/kZ26 ,oa 27 rd nh/kZ26 ,oa 27 rd nh/kZmÙkjh; iz’u gSaA izR;sd ds fy, 5mÙkjh; iz’u gSaA izR;sd ds fy, 5mÙkjh; iz’u gSaA izR;sd ds fy, 5mÙkjh; iz’u gSaA izR;sd ds fy, 5    vadvadvadvad    fu/kkZfjr gSaA fu/kkZfjr gSaA fu/kkZfjr gSaA fu/kkZfjr gSaA 

¼’kCnlhek & 10¼’kCnlhek & 10¼’kCnlhek & 10¼’kCnlhek & 100 'kCn yxHk0 'kCn yxHk0 'kCn yxHk0 'kCn yxHkx½x½x½x½    

    (viii) iz’u Øekadiz’u Øekadiz’u Øekadiz’u Øekad    28 fuca/kkR28 fuca/kkR28 fuca/kkR28 fuca/kkReeeed iz’u gSA blds fy, 10d iz’u gSA blds fy, 10d iz’u gSA blds fy, 10d iz’u gSA blds fy, 10    vad fu/kkZfjr gSaAvad fu/kkZfjr gSaAvad fu/kkZfjr gSaAvad fu/kkZfjr gSaA                        

¼’kCnlhek &¼’kCnlhek &¼’kCnlhek &¼’kCnlhek &150 'kCn yxHk150 'kCn yxHk150 'kCn yxHk150 'kCn yxHkx½x½x½x½    
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iz-1 fjDr LFkkuksa dh iwfrZ dks"Bd esa fy[ks oSdfYid 'kCnksa esa ls dhft, & ¼1¼1¼1¼1××××5555=5½5½5½5½ 

 (i) /kjrh dk i;kZ;okph ---------------------------- gSA ¼olq/kk@Hkkjrh½ 

 (ii) ohj jl dk LFkk;h Hkko -------------------------------- gSA ¼gkl@mRlkg½ 

 (iii) dfo jl[kku us ----------------------------- dk o.kZu fd;k gSA ¼jke@Ñ".k½ 

 (iv) vkfnoklh lekt vius thou ;kiu ds fy, --------------------- ij fuHkZj gSA ¼m|ksx/ka/ks@izkÑfrd 

lalk/ku½ 

 (v) firkth dks fy[kk tkus okyk i= -------------------- i= dgykrk gSA ¼vukSipkfjd@vkSipkfjd½ 

iz-2 lgh fodYi dk p;u dhft, & ¼1¼1¼1¼1××××5555=5½5½5½5½  

 (i) dYiuk pkoyk dk tUe gqvk Fkk & 

  ¼d½ fu/kZu ifjokj esa 

  ¼[k½ lk/kkj.k ifjokj esa 

  ¼x½ cgqr vehj ifjokj esa 

  ¼?k½ O;kikjh ifjokj esa 

 (ii) ukxktqZu dfo dks lgkuqHkwfr gS& 

  ¼d½ okrkoj.k ls 

  ¼[k½ izÑfr ls 

  ¼x½ lkekU;tu ls 

  ¼?k½ lekt ls 

 (iii) ,d gh o.kZ dh ckj & ckj vko`fÙk gksus ij vyadkj gksrk gS & 

  ¼d½ ;ed 

  ¼[k½ 'ys"k 

  ¼x½ vuqizkl 

  ¼?k½ miek 

 (iv) fdlh 'kCn ds iwoZ esa tqM+us okyk o.kZ@’kCn tks 'kCn dk vFkZ cny ns] dgykrk gS & 

  ¼d½ izR;; 

  ¼[k½ milxZ 

  ¼x½ rRle 

  ¼?k½ rn~Hko 
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 (v) “ko iYyou ds Lo#i esa lekos’k gksuk vko’;d ugha gS & 

  ¼d½ ewy “ko 

  ¼[k½ larqfyr fo’ys"k.k 

  ¼x½ lgk;d Hkko 

  ¼?k½ izsj.kkizn lans’k 

iz-3 fuEufyf[kr esa ls lR;@vlR; okD; Nk¡fV, & ¼1¼1¼1¼1××××5555=5½5½5½5½ 

 ¼d½ fdlh mfDr vFkok okD; esa fufgr O;kid lans’k dks foLRkkj nsuk] “ko iYyou dgykrk gSA 

 ¼[k½ ekuo 'kjhj tM+ fiaM gSA 

 ¼x½ dks;y] clar _rq eas ekSu lk/k ysrh gSA 

 ¼?k½ ^vk¡[k fn[kkuk^ eqgkojs dk vk’k; nq[kh jguk gSA 

 ¼p½ nksgs esa nks iafDr;k¡ vkSj pkj pj.k gksrs gSaA 

iz-4 ,d okD;@’kCn eas mÙkj fyf[k, & ¼1¼1¼1¼1××××5555=5½5½5½5½ 

 ¼d½ dfo us vk¡xu esa dqVh Nckdj fdls clkus dks dgk gS\ 

 ¼[k½ ^fMIFkhfj;k^ jksx esa 'kjhj dk dkSu lk vax izHkkfor gksrk gS\ 

 ¼x½ jl ds fdrus vax gksrs gSa\ 

 ¼?k½ yksdksfDr dk laf/k foPNsn dhft,A 

 ¼p½ lqfo/kk dh n`f"V ls i= dks fdrus oxksZa esa ck¡Vk x;k gS\ 

iz-5 lgh tksM+h cukb, &        ¼1¼1¼1¼1××××5555=5½5½5½5½ 

      ^v^         ^c^ 

 (i) vodk’k gsrq vkosnu i=   ¼d½ ehjkckbZ 

 (ii) esjs rks fxj/kj xksiky   ¼[k½ d#.k jl 

 (iii) ^cgknqj^     ¼x½ vkSipkfjd 

 (iv) mlds vusdksa uke gSa   ¼?k½ ,d dgkuh dk uke 

 (v) 'kksd      ¼M-½ v’kq) okD; 
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iz-6 ^tM+efr^ 'kCn ls D;k vk’k; gS\ ¼2½¼2½¼2½¼2½ 

  vFkokvFkokvFkokvFkok    
 cht ds ek/;e ls dfo D;k dguk pkgrk gS\ 

iz-7 olar _rq esa /kjrh fdl jl esa lath laojh izrhr gksrh gS\ ¼2½¼2½¼2½¼2½ 

  vFkokvFkokvFkokvFkok    
 dfo dSls yksxksa dks txkus ds fy, dgrk gS\ 

iz-8 ^[kksth gks; rks rqjarfg fefy gkSâ  ds vk’k; dks Li"V dhft,A ¼2½¼2½¼2½¼2½ 

  vFkokvFkokvFkokvFkok    
 ^cxqyk^ lekt ds fdl oxZ dk izrhd gS\ 

iz-9 ^ifj;kstuk^ fdls dgrs gSa\ ¼2½¼2½¼2½¼2½ 

  vFkokvFkokvFkokvFkok    
 izi= ls vki D;k le>rs gaS\ 

iz-10 uhps fn;k x;k euhvkMZj QkeZ HkjsaA ¼2½¼2½¼2½¼2½ 

“kjrh; Mkd foHkkx 

 #i;s ----------------------------- vnk djasA                           euh vkMZj 

 lsok esa] -------------------------------------                               fiu 

 fnuk¡d %&  

izs"kd ds gLrk{kj 

 dsoy dk;kZy; ds iz;ksx ds fy, iksLVekLVj 

    -------------------------- #i;s izkIr fd;sA 

    izkIrdrkZ ds gLrk{kj 

 xksy e- vk- eksgj xokg@ igpkudrkZ ds gLrk{kj 

 vFkokvFkokvFkokvFkok    
 “ko iYyou dhft, & 

 ^ij mins’k dq’ky cgqrsjŝ  

iz-11 okpd ds fy, ukSdj j[kuk fdu dkj.kksa ls vko’;d Fkk\ ¼2½¼2½¼2½¼2½ 

vFkokvFkokvFkokvFkok    

 dkslkuh dh rqyuk fLoV~tjyS.M ls D;ksa dh xbZ gS\ 

iz-12 dYiuk pkoyk dks yksxksa us ,vjksukWVhdy bathfu;fjax i<+us ls D;ksa euk fd;k\ ¼2½¼2½¼2½¼2½ 

vFkokvFkokvFkokvFkok    

 [kkus & ihus ls igys gkFkksa dks vPNh rjg D;ksa /kksuk pkfg,\ 
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iz-13 ^;k=k & o`Ùkkar^ ls vki D;k le>rs gSa\ ¼2½¼2½¼2½¼2½ 

vFkokvFkokvFkokvFkok    

 fuEufyf[kr okD;ksa dks 'kq) dhft, & 

 (i) mlds fclrj ij dkyk ljQ [kM+k FkkA ¼1½¼1½¼1½¼1½ 

 (ii) gok py jgh gSA  ¼1½¼1½¼1½¼1½    

iz-14 fuEufyf[kr eqgkojksa dk vFkZ fy[kdj okD; esa iz;ksx dhft, & 

 (i) ydhj dk Q+dhj gksuk ¼1½¼1½¼1½¼1½ 

 (ii) vk¡[k dk rkjk gksuk ¼1½¼1½¼1½¼1½ 

vFkokvFkokvFkokvFkok    

 fuEufyf[kr 'kCnksa esa ls nks milxZ vkSj nks izR;; Nk¡fV, & ¼¼¼¼½+½+½+½=2222½½½½ 

 dqekxZ] le>nkj] lqlaxr] viukiu  

iz-15 nksgs esa fdruh iafDr rFkk fdrus pj.k gksrs gSa\ fdlh ,d nksgs dk mnkgj.k fyf[k,A ¼2½¼2½¼2½¼2½ 

vFkokvFkokvFkokvFkok    

 n`"Vkar vyadkj fdls dgrs gSa\ dksbZ ,d mnkgj.k fyf[k,A 

iz-16 NUn fdls dgrs gSa\ fdUgha nks Nanksa ds uke fyf[k,A ¼1¼1¼1¼1+½+½=2½2½2½2½ 

vFkokvFkokvFkokvFkok    

 vuqizkl vkSj ;ed vyadkj esa varj crykb,A 

iz-17 ¼v½ vusd 'kCnksa ds fy, ,d 'kCn crykb, & 

  (i) tks dHkh igys u gqvk gks ¼1½¼1½¼1½¼1½ 

  (ii) bZ’oj ij fo’okl u djus okyk ¼1½¼1½¼1½¼1½    

    ¼c½ fuEufyf[kr 'kCnksa ds foykse 'kCn fyf[k, & ¼¼¼¼½+½=1111½½½½ 

  (i) lqanj    

  (ii) orZeku    

vFkokvFkokvFkokvFkok    

 ¼v½ fuEufyf[k, 'kCnksa ds dksbZ nks & nks i;kZ;okph fyf[k, & 

  (i) lw;Z   ¼¼¼¼½+½=1½1½1½1½ 

  (ii) i`Foh   ¼¼¼¼½+½=1½1½1½1½ 

    ¼c½ ^udkjkRed okD; dk dksbZ ,d mnkgj.k fyf[k, & ¼¼¼¼1111½½½½ 
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iz-18 fuEufyf[kr iafDr;ksa esa fufgr vyadkj igpkfu, & 

 (i) vacj & iu?kV esa Mqcks jgh rkjk & ?kV Å"kk ukxjh ¼1½¼1½¼1½¼1½ 

 (ii) e/kq & eqdqy   ¼1½¼1½¼1½¼1½ 

    (iii) jfg;u ikuh jkf[k;s] fcu ikuh lc lwu  

  ikuh x;s u ÅcjS] eksrh ekul pwu ¼1½¼1½¼1½¼1½ 

vFkokvFkokvFkokvFkok    

 ^lk¡x&#id vyadkj^ ls vki D;k le>rs gSa\ mnkgj.k lfgr le>kb,A 

iz-19 ,d vLirky esa pkj okMZ g]Sa buesa m;’k 26] 35] 60 vkSj 18 ejht+ gSaA igys okMZ esa 13 iq#"k] 10 

efgyk,¡ vkSj 03 cPps gSaA nwljs okMZ esa 20 iq#"k vkSj 15 efgyk,¡ gSaA rhljs okMZ esa dsoy cPps gSa 

vkSj pkSFks okMZ esa dsoy efgyk,¡ gSaA ¼3½¼3½¼3½¼3½ 

 mDr lwpuk ds vk/kkj ij mi;qDr rkfydk cukb, ,oa mDr vk¡dM+ksa dks buesa n’kkZb,A  

vFkokvFkokvFkokvFkok    

 fuEufyf[kr rkfydk ds vk/kkj ij LraHk fp= cukb,&   

Ø- Ukke izkIrkad 

1- jes'k 45 

2- vczkge 60 

3- ulhe 30 

4- gjfoUnj 15 

5- jkts'k tSu 20 

6- usgk 25 

 

iz-20 fuEufyf[kr i|ka’k dh lanHkZ vkSj izlax lfgr O;k[;k dhft,& ¼1¼1¼1¼1+1111+2222=4½4½4½4½ 

 isM+ >qd >kadus yxs xjnu mpdk,] 

  vka/kh pyh] /kwy Hkkxh /kk?kjk mBk,]  

 ckadh fprou mBk unh fBBdh] ?kwa?kV ljds  

 es?k vk, cM+s cu & Bu ds laoj dsA 

 



[201]          Page 7 of 8                                                    

vFkokvFkokvFkokvFkok    

 dkgw dsk ekf[k pkfjo x;ks v# dkgw dks nw/k ngh Bjdk;A 

 dkgw dks phj yS #[k p<;kS v# dkgs dks xqat >jk Ngjk;ksAA 

 ekuS ugha cjtS jl[kku lqtkuks gh jkt bUgsa ?kj vk;ksA 

 vkmjh cw>s tlksefr lksa ;g Nksgjk tk;ks fd Hk; mitk;ksAA 

iz-21 loS;k Nan dh izeq[k fo’ks"krk,¡ fy[krs gq, dksbZ ,d mnkgj.k lfgr le>kb,A ¼2¼2¼2¼2+2222=4½4½4½4½ 

vFkokvFkokvFkokvFkok    

 fgUnh “k"kk lkfgR; dks fdrus dkyksa eas ck¡Vk x;k gS\ mu lHkh dkyksa ds uke fyf[k,A e/;dky 

fdls dgk x;k gS\   ¼1¼1¼1¼1+2222+1111=4½4½4½4½ 

iz-22 ^’kCn’kfDr^ fdls dgrs gSa\ ¼1¼1¼1¼1+3333=4½4½4½4½ 

 ;s fdrus izdkj dh gksrh gS\ mnkgj.k lfgr le>kb;sA 

vFkokvFkokvFkokvFkok    

 lqnkek dh n’kk ns[kdj Ñ".k D;ksa jks iMs+\ 

iz-23 gekjs thou esa lekpkjksa dh D;k mi;ksfxrk gS\ ¼4½¼4½¼4½¼4½ 

vFkokvFkokvFkokvFkok    

 og iBku] tks ,d Hkh ;k=h dks fMCcs esa ugha cSBus ns jgk Fkk] mlus ys[kd ds lkFk ckjg vU; 

O;fDr;ksa dks dSls cSBus fn;k\ iBku ds bl ân; ifjorZu ds D;k dkj.k Fks\ 

iz-24 fuEufyf[kr iafDr;ksa eas fufgr O;aX; dks Li"V dhft, & 

 ¼d½ ekjihV dh laHkkouk dkQh mTToy FkhA ¼2½¼2½¼2½¼2½ 

 ¼[k½ cl fQj >id xbZ Fkh] dksap dkasp dj mls txk;k x;k rc xqjkZdj py iM+hA ¼2½¼2½¼2½¼2½ 

vFkokvFkokvFkokvFkok    

 ^foKkiu^ dh izeq[k fo’ks"krk,¡ fyf[k,A 

iz-25 fyf[kr vfHkO;fDr ds fy, fdu&fdu ckrksa dk /;ku j[kuk pkfg,\ ¼4½¼4½¼4½¼4½ 

vFkokvFkokvFkokvFkok    

 “kjr esa tc vyx&vyx “k"kkvksa ds cksyus okys yksx vkil esa feyrs gSa rks fdl Hkk"kk esa ckr 

djrs gSa\ vkSj D;ksa\ 
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iz-26 fuEufyf[kr vifBr x|ka’k dks /;ku iwoZd if<+, vkSj fQj uhps fy[ks iz’uksa ds mÙkj nhft,&  

 tula[;k dh òf) Hkkjr ds fy, vkt ,d fodV leL;k cu xbZ gSA ;g lekt dh lq[k laiérk 

ds fy, ,d Hk;adj pqukSrh gSA egkuxjkas esa dhM+s edksM+ksa dh Hkk¡fr vLokLF;dj ?kksalyksa esa vkneh 

Hkjk iM+k gS & u /kwi] u gok] u ikuh] u nok] ihys&nqcZy fujk’k psgjsA ;g ladV vuk;kl ugha 

vk;k gSA larku dks bZ’ojh; fo/kku vkSj ojnku ekuusokyk Hkkjrh; lekt gh bl jDrchth 

laLÑfr ds fy, ftEesnkj gSA 

 ¼1½ lekt dh lq[k laiérk ds fy, Hk;adj pqukSrh D;k gS\ ¼1½¼1½¼1½¼1½ 

 ¼2½ tula[;k o`f) ds fy, mÙkjnk;h ,d izeq[k dkj.k D;k gS\ ¼1½¼1½¼1½¼1½ 

 ¼3½ mDr vifBr x|ka’k dk 'kh"kZd crkb,A ¼1½¼1½¼1½¼1½ 

 ¼4½ x|ka’k dk lkjka’k fyf[k,A ¼2½¼2½¼2½¼2½ 

iz-27 vius fiz; fe= dks gkbZLdwy ijh{kk izFke Js.kh esa mÙkh.kZ djus ij c/kkbZ & i= fyf[k,A ¼5½¼5½¼5½¼5½ 

vFkokvFkokvFkokvFkok    

 vkids eksgYys esa c<+ jgh pksjh dh ?kVukvksa dks ns[krs gq, FkkukizHkkjh dks i= fy[kdj vkids {ks= 

esa jkf= x+’r c<+kus dk vuqjks/k dhft,A 

iz-28 ¼v½ fuEufyf[kr esa ls fdlh ,d fo"k; ij fuca/k fyf[k, & ¼7½¼7½¼7½¼7½ 

  ¼d½ esjk fiz; [ksy 

  ¼[k½ tula[;k o`f) dh leL;k 

  ¼x½ eksckby Qksu dk c<+rk pyu 

  ¼?k½ iznw"k.k dk ladV 

  ¼p½ o`{kkjksi.k dk egRo 

 ¼c½ fuEufyf[kr esa ls fdlh ,d fo"k; ij fuca/k dh :ijs[kk fyf[k,& ¼3½¼3½¼3½¼3½ 

  ¼d½ ty gh thou gS 

  ¼[k½ fo|kFkhZ thou vuq’kklu 

  ¼x½ foKku ds ojnku 

  ¼?k½ esjk fiz; [ksy 

--------------------------------------------------- 
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dqy iz’uksa dh la[;k % 16                                                         dqy i`"Bksa dh la[;k % 07 

Total No. of Questions :  16  Total No. of Pages : 07 

     202 

                fo"k; %fo"k; %fo"k; %fo"k; %    vaxzsthvaxzsthvaxzsthvaxzsth    

          Subject : ENGLISH 

le; % 03 ?k.Vs                                                  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

    

Note :-    (i)  All questions are compulsory.  

             (ii) The question paper has four sections - A, B, C, D.  

  

SECTION - A 

Q.1 Read the following carefully and answer the questions given below- 

 A mechanical engineer is responsible for coming up with and designing mechanical systems. 

Mechanical systems can include machine design, heating and cooling equipment, power 

generation and product design. Products like the latest cell phone begin with an engineer 

coming up with the idea. 

 Mechanical engineers are in high demand right now. That means that there are a lot of job 

openings for mechanical engineers, but there aren’t enough people to fill those jobs, Because, 

there is a high need for engineers, and the work requires specialized knowledge, engineers 

get paid more than some other careers. 

 Question: 

 (1) What does a mechanical engineer do? [1] 

 (2) What is mechanical system? [1] 

 (3) Why are there more job openings for mechanical engineers? [1] 

 (4) Mechanical engineers are……………demand. [1] 

  (i) in high 

  (ii) in no 

 (5) Engineers get…………..more than some other careers. [1] 

  (i) proper 

  (ii) paid 
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Q.2 Read the following passage carefully and answers the questions given below: 

 According to the popular tradition, Vikramaditya started the “Vikram Samvat” Era in 57 BCE, 

after defeating the Shakas. For this reason, those who believe him to be based on a distinct 

historical figure place him around the Ist century BCE. However, this era is mentioned a 

“Vikram Samvat” only after the 9th century CE. Other scholars argue that Vikramaditya is a 

mystical character as several of the legends about him are fantastic in nature. ”vikranaditrya” 

was a common title adopted by several Indian Kings, and it is possible that the various 

Vikramaditya legends are embellished accounts of different kings,  particularly     

Chandragupta II. 

 Questions: 

 (1) “Vikram Samvat” is mentioned………..9th century. [1] 

  (a) in 

  (b) after 

  (c) before 

 (2) ………… is a common title adopted by several Indian Kings. [1] 

  (a) Legends 

  (b) Vikramaditya 

  (c) Chandragupta 

 (3) Who started “Vikram Samvat” Era? [1] 

 (4) Who argues that Vikramaditya is a mystical character? [1] 

 (5) What was a common title? [1] 
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Q.3 Read the following passage carefully and answer the questions given below:  

 Time management is important in any situation and most people have difficulty getting started. 

Time management is a skill that you have to learn. Time management is a life style. The best 

place to begin working on time management is by changing your behaviour and your 

environment. The definition of time management is getting everything done in the allotted 

amount of time. It is a building process effectively using the time you have and getting rid of 

“useless” time, organizing your activities in a sequence that best utilizes your time. Time 

management includes   your personal life and business life. Time management is efficiency of 

your time. Analyze your current time and think how you can make better use of your time. 

 Questions: 

 (1) What is “Time management”? [1] 

 (2) How can we work on time management? [1] 

 (3) What is included in time management? [1] 

 (4) Time management is getting rid of………time. [1] 

  (a) useless time 

  (b) allotted time 

  (c) current time 

 (5) ……….. your activities in a sequence that best utilizes your time. [1] 

    (a) Building 

  (b) Analyzing 

  (c) Organizing 

SECTION – B 

Q.4 Write a letter to your father telling him about your hostel life.  [6] 

OR 

 Write an application to your principal to issue you a new library card. 
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Q.5 Read the passage carefully and answer the questions given below: 

 A good novel recreates life as it is. A Great novelist is gifted with a rare insight. His vision 

animates dead past and anticipates the unborn future. Thus we can wander into the dead 

maze of the past with a Scot or have a stunning glimpse of the future with a Huxley. And a 

novelist’s revivification of life is more true than that of a historian. For, a historian is more 

concerned with bare facts that are often misleading whereas a novelist’s field of study is 

human mind. 

 (a) Make notes for the given passage [3] 

 (b) Write a summary of the passage given above [3] 

 (c) Write a title for the passage [1] 

Q.6 Write a paragraph on any one of the following topic in about 60 words. [7] 

 (i) Any festival 

 (ii) Science in our lives 

 (iii) Importance of games and sports 

 (iv) Plantation drive 

SECTION – C 

Q.7 (A) Fill in the blanks by choosing the correct word from the bracket: (any five) [5] 

  (i) He stood at ………………… last in the row. (a, an, the) 

  (ii) The boy jumped……………………... the river. (in, into) 

  (iii) You ……….….. your family are invited today. (and, but) 

  (iv) Salman is ………….….. tallest boy in our class. (a, the) 

  (v) The cat is hidden …..………… the box. (behind, before) 

  (vi) He is performing ……………………… the stage. (in, on) 

 (B) Fill up the blanks with the correct word: (any five) [5] 

  (i) Do you like to have…………….…. cup of tea. (a, some) 

  (ii) Sohan  is …………………….… then Rohan. (tall, taller) 

  (iii) This is a secret ….………… you and me. (for, between) 

  (iv) I like tea …………………... I don’t like coffee. (and, but) 

  (v) ……………………….... Ganga is a sacred river. (the, a) 

  (vi) Reema prefers traditional dresses……… modern dresses. (to, an) 
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Q.8 Do as directed: (any 5) [5] 

 (i) I cut vegetables daily. (change in negative) 

 (ii) He is working in this office. (make an interrogative) 

 (iii) Raja plays cricket. (change in past continuous tense) 

 (iv) It is raining since morning. (correct the sentence) 

 (v) My teacher is the best teacher. (use comparative degree of adj.) 

 (vi) This is my car? (frame a question) 

Q.9 Choose the correct option in the given sentence: (any five) [5] 

 (i) ………we get the permission we will go in. (As soon as, No sooner than) 

 (ii) We are forty four …………………. in the sports team. (player, players) 

 (iii) I like the gift ………………….…………….. you gave me. (what, which) 

 (iv) ………………… you pay the fee you will not get admission. (If, Unless) 

 (v) This is my house ………………… that is my brother’s house. (as, and) 

 (vi) The woman …………….……. Is in blue sari, is my sister.(who, whose) 

SECTION – D 

Q.10 Read the following extract carefully and answer the questions below: 

 Kondiba’s heart was beating painfully, he badly needed to breathe. He felt desperately for 

something to hold in order to pull Arvind up and out of the net he was in. Suddenly, he felt 

Arvind’s belt. Holding it lightly with his right hand, he pulled the lad free, turned about and   

pushed up. His spine and muscles ached. This almost stopped his movements. His weak, 

starved body fought against what his mind told him he must do. 

 Questions: 

 (1) Kondiba’s heart was beating ……………………... [1] 

  (a) painfully 

  (b) very fast 

 (2) He badly needed to …………………………. [1] 

  (a) breathe  

  (b)  break 

 (3) What his mind told him he must ……………… [1] 

  (a) help 

  (b) do 

 (4) What did Kondiba’s fingers touch in the muddy water? [2] 
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Q.11 Read the following extract carefully and answer the following questions: 

 The barber pulled the king’s hair this way and that, and managed to cover the horns partially. 

The king put on his turban to hide the rest. “Now go and tell the court I am unwell. I will not 

see anymore”. He sat up and looked angrily at the barber “And remember my warning”. 

 Questions: 

 (1) Barbar managed to cover……………… partially. [1] 

  (a) horn 

  (b)  hair 

 (2) …………. put the turban to hide the rest. [1] 

  (a) The king 

  (b) The barber 

 (3) He sat up and looked……….. [1] 

  (a) angrily 

  (b) amazing 

 (4) What did the king say to the barber? [2] 

Q.12 Answer any five questions given below: [2××××5=10] 

 (i) Who did Tenali Raman bring to court? 

 (ii) Why did the mountain goat look handsome? 

 (iii) When did the author face trouble? 

 (iv) What did Kondiba miss now? 

 (v) What was the kings punishment? 

 (vi) According to Naina what is the cause of noise? 

Q.13 Ans any two questions from the following:     [2××××3=6]  

 (i) According to the village women, what do the men do? 

 (ii) What did the tamarind drum sing? 

 (iii) What reward d id Kondiba get? 
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Q.14  “When the dusk sends quickly,  

  The birds to rest, 

  The tall trees shelter them, 

  Safe in a nest. 

 Questions: 

 (1) What is the name of the poem? [1] 

 (2) Rhyming word of “rest” is ……..... [1] 

 (3) Where do the birds rest? [1] 

 (4) Who shelters the birds? [2] 

Q.15 Why was Jijabai sad?  [5] 

 OR 

 Where was Shivaji? 

Q.16 Answer the questions given below  (any three):    [3××××3=9] 

 (i) Which historical character inspired young Indira? 

 (ii) Why has Anju been called a special person? 

 (iii) What was Sen’s greatest contribution to Economics? 

 (iv) What should we protect, nurture and build on? 

 

------------------------------------ 
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fu n sZ ’k&  fu n sZ ’k&  fu n sZ ’k&  fu n sZ ’k&          

    ¼¼¼¼ 1111 ½½½½     i z ’u  Øi z ’u  Øi z ’u  Øi z ’u  Ø ----     1  rs1  rs1  rs1  rs     i z ’u  Øi z ’u  Øi z ’u  Øi z ’u  Ø ----     5  oLr q fu " B  i z ’u  vkgsr5  oLr q fu " B  i z ’u  vkgsr5  oLr q fu " B  i z ’u  vkgsr5  oLr q fu " B  i z ’u  vkgsr ----         

    ¼¼¼¼ 2222 ½½½½     i z ’u  Øi z ’u  Øi z ’u  Øi z ’u  Ø ----     6  rs6  rs6  rs6  rs     2 5  i z R; sd  i z ’u  fod Yi fn y s v kgsr2 5  i z R; sd  i z ’u  fod Yi fn y s v kgsr2 5  i z R; sd  i z ’u  fod Yi fn y s v kgsr2 5  i z R; sd  i z ’u  fod Yi fn y s v kgsr ----         

    ¼3 ½¼3 ½¼3 ½¼3 ½         i z R; sd  i z ’u kl ek sj  fu / kkZ fj r  v ad  fn ys xsy s vkgsri z R; sd  i z ’u kl ek sj  fu / kkZ fj r  v ad  fn ys xsy s vkgsri z R; sd  i z ’u kl ek sj  fu / kkZ fj r  v ad  fn ys xsy s vkgsri z R; sd  i z ’u kl ek sj  fu / kkZ fj r  v ad  fn ys xsy s vkgsr ----             

    ¼¼¼¼ 4444 ½½½½         l oZ  i z ’u  l ksM fou s vko’; dl oZ  i z ’u  l ksM fou s vko’; dl oZ  i z ’u  l ksM fou s vko’; dl oZ  i z ’u  l ksM fou s vko’; d     vkg svkg svkg svkg s ----     

    

i z -1 f j d kE; k t kxh d l kar hy ; k sX ; i ; k Z ; fu o Mwu  fyg k-      ¼5 ½¼5 ½¼5 ½¼5 ½  

 ¼1 ½ ys[ kd k au k l qan j  --------------------------------i kg wu  v kuan  g k sr k s- ¼i {k h]  fp = iV ]  [k sG .k h½ 

 ¼2 ½ fi G o .kwd  i kM hy -------------------------------v kEg k v l k s d k s.k kp hg hA  ¼p hM ]  'k h.k]  i hG ½ 

 ¼3 ½ d o hyk Hk sV k;yk v kysY; k  f o | ~ ; kF; k Zp s d i M s-------------------------------------g k sr s- ¼d n Z eysys]  fd M ys ys]  

Q kV ysys½  

 ¼4 ½ i z k- d kO gZ j  ; kau k f o | ~ ; kFk k Z P ; k eu kr hy ----------------------------------f o | sc íyp h v < h n wj  d j k;ph 

g k sr h- ¼Ñ f" k]  dk j kfxj h]  'k L+= f o | k½ 

 ¼5 ½ fc ; k o j  il j ysY; k e k r h l -------------------------------------------E g V ys v kg s- ¼/k j = h]  Hk q b Z]  'k ky½  
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i z -2 ; k sX ; t k sM ; k t q G o k ¼5 ½¼5 ½¼5 ½¼5 ½  

    ¼v½         ¼c ½  

 ¼1 ½ Hk wfeg hu       (i) d s’k o l q r 

 ¼2 ½ f o g h j       (ii) ; k sfxj kt  o k? ke kj s 

 ¼3 ½ t sV  ; q xk r hy e j kB h e k.kwl    (iii) u k- /k k s- eg ku k sj   

 ¼4 ½ v kEg h d k s.k     (iv) o keu  p ksj ? kMs 

 ¼5 ½ l k at k or ku k     (v) 'k r au q j ko  fd yk sZ Ld j   

i z -3 l R;@ v l R; r s fyg k- ¼5 ½¼5 ½¼5 ½¼5 ½  

 ¼1 ½ J k o .k efg U; k r  [ k ku ns’k k r  i k sG ; kp k l .k ;sr k s- 

 ¼2 ½ ys[ kd kP p k fHkM Lr  Lo Hk k oke q Gs R; kp s [ k wi  u q d l ku  g k sr  g k sr s-  

 ¼3 ½ i k.k h v k s< r ku k L= h; k [ k kyh o kd r  d k j .k R; k o ;Ld  g k sR; k Eg .k wu -  

 ¼4 ½ ; a= kp s d r Z̀ Ro  i kfg ys d h eu q " ; kp s eu  F kô  g k sr s-  

 ¼5 ½ t u kc kb Z yk f o ðyHkDr hps l aLd k j  r qd k j ke eg kj kt k d M wu  feG kys-  

i z -4 , d k o kD ;k r @ ’kCn kr  m Ùk j s fyg k-  ¼5 ½¼5 ½¼5 ½¼5 ½  

 ¼1 ½ l eF k Z  j ken k l ku ql k j  e q ykau k Hk hd  e kxk;p h o sG  d k v kyh\ 

 ¼2 ½ v kEg h d k s.k kp s ykM d s v k g k sr  v l s d o h Eg .k r k s\  

 ¼3 ½ eg k $ m Rl o  'kC n  t k sM wu  , d  'kC n  r ; kj  d j k-  

 ¼4 ½ R; k xk o k r  V q en kj  > ksi M ; k v kg sr - ¼f o ’k s" k.k v k sG [ k k½   

 ¼5 ½ j ke [ k sG k;yk t kbZ y]  ¼d kd  v k sG [ k k½ 

 



[204]          Page 3 of 7                                                    

i z -5 [ k kyhy o kd ~ iz p kj kp k v F kZ fyg k-   ¼5 ½¼5 ½¼5 ½¼5 ½  

 ¼1 ½ i k<  F k k si Vu s 

 ¼2 ½ g q dak j  n s.k  

 ¼3 ½ i k; k ? k ky.k s  

 ¼4 ½ F kô  g k s.k s 

 ¼5 ½ v kd k’k Q kV .k s 

i z -6 ^ v Hk kX ; k ap s v J ŵ  ; k 'kC n k r wu  d o hyk d k; lq p ok;p s v kg s\      ¼2 ½¼2 ½¼2 ½¼2 ½     

fd ao kfd ao kfd ao kfd ao k     

    i wj ke qG s v ki ys l o Z Lo  xsys  g s d k s.kR; k  v k sG h r wu  O ;Dr  > kys v kg s\  

i z -7 'k sr k r  Hk j ? k ksl  i hd  v kY; kp s J s; 'k sr d j h d ks.k kyk n sr k s\      ¼2 ½¼2 ½¼2 ½¼2 ½     

fd ao kfd ao kfd ao kfd ao k     

    d k s.kR; k 'kD r hP ; k c Gk o j d o h ; k f o ’o k r  f o g kj  d :  'kd r ks\  

i z -8 d k s.k kp s t h o u  lo k Zr  g yk[ k hps v l r s v l s ys[ kd ku s Eg V ys v kg s\      ¼2 ½¼2 ½¼2 ½¼2 ½     

fd ao kfd ao kfd ao kfd ao k     

    ;’k k sn sP ; k fn j kus o kV h d k Q sd yh\   

i z -9 d k s.k r s r Ro  n q /k k jh r yo kj h l kj [ ks v kg s\      ¼2 ½¼2 ½¼2 ½¼2 ½     

fd ao kfd ao kfd ao kfd ao k     

    O ; k[ ; ku  n s.k kÚ ; k c kab Z u h d k s.k r k lan s’k fn yk\  

i z -1 0 i q < hy 'kC n krwu  'k q ) 'kC n  fu o M wu  fyg k-      ¼2 ½¼2 ½¼2 ½¼2 ½     

    ¼1 ½ « ; S yk sD ;]  = ;yksD ;]  « ;syk s D ;  

 ¼2 ½ c g eU; ku]  c g e ~K ku]  c z EgK ku   
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f d ao kf d ao kf d ao kf d ao k     

    ¼1 ½ l wÑ r]  l wØwr ]  l q Ñr   

 ¼2 ½ l e z ) h]  l è) h]  l e: ) h  

i z -1 1 [ k kyh fn ysY; k o kD ; l e qg k c íy , d  'kC n  fyg k- ¼d k s.k r sg h n k su ½ ¼2¼2¼2¼2 ½½½½  

 ¼1 ½ T; kyk u k o  n sr k ; sr  u kgh- 

 ¼2 ½ l o Z kl kaB h [ k q ys v l ysys o kp u ky;-  

 ¼3 ½ 'k sr h d j .k k j k-  

 ¼4 ½ fyfg r k o kp rk u  ; s.k k j k-   

i z -1 2 d kG kps e q [ ; i z d kj  d h rh v kg s\ R; kp s  u k o  fyg k-      ¼2 ½¼2 ½¼2 ½¼2 ½      

f d ao kf d ao kf d ao kf d ao k     

 i q < hy o kD ; d k s.kR; k d kG k r hy v kg s r s fyg k -   

 ¼1 ½ i z ; k sx 'k kG sp h m Hk k j .k h f o| kF k h Z  i kgr  v kg sr -   

 ¼2 ½ l k;d kaG h xq j s v ki  v ki Y; k xk sO ; k r  i j r  ; sr hy-   

i z -1 3 [ k kyhy o kD ; k rhyk l o Zu ke v k sG [ k k-       ¼2 ½¼2 ½¼2 ½¼2 ½     

    ¼1 ½ j k/k kp k v k o kt  xk sM  v kg s]  r h l q naj  xk r s-   

 ¼2 ½ l q /k h j  ph i j h {k k lai yh Eg .k wu  r k s xk o kyk xsyk-    

ffff d ao kd ao kd ao kd ao k     

    ^ u ke^  Eg .kt s d k;\ m n kgj .k l fgr  fyg k- 

i z -1 4 ^ l k at k or kuk^  d o hyk d ks.kd k s.k r h n ` ’;s fn l r k r \ ¼4¼4¼4¼4 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    l ar  r qd k j ke eg kj kt  l k/k w d k s.k kyk Eg .k r k r \ 
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i z -1 5 Hk wd ai k r wu  t s ft oar  j kfg ys R; k ap h v o LF k k d ’k h > kyh v kg s\  ¼4¼4¼4¼4 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    n wl Ú ; ko j  g ks.k k j s v R; kp k j  i kg wu  d o h d k lr kai wu  m B r ks\ 

i z -1 6 fi at Ú ; kr hy i {; kp h r q yuk ys[ kd ku s d ’k k’k h d syh v kg s\ ¼¼¼¼ 4444 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    M k W  d kO gZ j  ; kau k d k s.k r s v kO g ku  Lo hd kj k;ps v kg s\ 

i z -1 7 l j d kj  t feuh d k s.k kyk o kV .k kj  g k sr s\ f l j i kyk v fHke ku  d k o kV yk\ ¼4¼4¼4¼4 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    i k sG ; kp k l .k d ks.kR; k ef g U; k r  ; sr k s\ ; k l .k kp s eg Ro  l k axk- 

i z -1 8 O ; k[ ; ku  n s.k k j h c kbZ  Lo r%yk r : .k d k Eg .k o wu  ? k sr s v l s ys[ kd kyk o kV r s\     ¼4¼4¼4¼4 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    c kg s: u  fnl .k k j h f og h j  o  o k Lr o kr hy f o g h j  ; k r d k s.k r k Q j d  v kg s- 

i z -1 9 i q < hy 'kC n kap s l e ku kF k hZ  'kC n  fyg k- ¼4 ½¼4 ½¼4 ½¼4 ½     

    ¼1 ½ n k l 

 ¼2 ½ Ñ " k h 

 ¼3 ½ /ku  

 ¼4 ½ f o ’o  

f df df df d ao kao kao kao k     

 i q < hy 'kC n kp s f o : ) kF k h Z  'kC n  fyg k-  

 ¼1 ½ 'k = w 

 ¼2 ½ t o G 

 ¼3 ½ v e ` r 

 ¼4 ½ i f o = 
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i z -2 0 i q j kyk i kgw.k h o  e kg sj o k’khe d k Eg V ys\      ¼¼¼¼ 5555 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    t feu hP ;k v axk o j  'kg kj s v kys v kg sr  v l s d o f; = h d k Eg .k r s\ 

i z -2 1 i q < hy o kD ; kap s l an HkZ l fgr  Li " V hdj .k d jk- ¼5¼5¼5¼5 ½½½½  

 ^ v kEg k ayk o xG k & xr i z Hk > .k h g k sr hy r k j kax.k ŝ          

f d ao kf d ao kf d ao kf d ao k     

    u k rs u o hu  v ls d kg h & t k sM wu  v kg k sr  v kEg h- 

i z -2 2 i q < hy o kD ; kap k l an Hk Z  n sÅ u  v F k Z  Li " V  dj k-     ¼¼¼¼ 5555 ½½½½     

    fu e Z G  eukP ; k e k.k lkyk i k[ k js v p wd  v k sG [ k r kr -  

f d ao kf d ao kf d ao kf d ao k     

    t h o u  t x.; kp k e kxZ  v ’; k i G o kV ke a/k wu  t k r  ulr k s-  

i z -2 3 i j xk o h v l ysY; k v ki Y; k F k k sj Y; k Hk k o k l  v ki Y; k v H; k l kp h i z xr h l kxa.k k j s i =  fyg k-       ¼¼¼¼ 5555 ½½½½     

f d ao kf d ao kf d ao kf d ao k     

    ^ fp = d yk^  Li /ksZ r  j kT; k r i z F ke v kysY; k v ki Y; k f e = kyk v fHku an u ij  i =  fyg k-  

i z -2 4 [ k kyhy m r k j k okpwu  Ro kP ; k[ k kyh fn ysY; k i z ’au kp h m Ù k js Lo r %P ; k 'kC n k r  fyg k-   ¼5 ½¼5 ½¼5 ½¼5 ½     

  eyk LF kG k ai s{k k e k.k l s v f/kd  v k o M r kr  v kf.k e k.k l k ai s{k k i q Lr d s d kg h LF kG s [ k wi  

v k o M r kr ]  i .k c gq /k k r sF k hy v u q Hk o  v kf.k R; k aP ; k v kB o .k h e kÖ; k v k o M R; k e k.k l k a’k h 

t k sM Y; k xsY; k v kg sr  Eg . k wu  fu e Zu q " ; fu l xZ  eyk Q k j l k v ko M r  u kg h]  >si r  u kg h- e k.kls 

feG kyh u kg hr  rj  ,[ k kns l q naj  i q Lrd  ? ksÅ u  c lsu  R; k n s[ k.; k fu l xk ZP ; k 

l g o kl k rl qn ~ /k k]  e k.k l ki sa{k k i q Lr ds v k o M r kr ]  d kj .k R; k i q Lr d kar  e k.k ls v l r kr - i z R;{k 
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t h o u kr  e k.kl k raY; k]  T;k m f.k o k eyk c ksp r kr ]  R; k e kÖ; k fu o M d  i q Lrd kar Y; k e k.k l kar  

u l rk r - i q Lrd k raY; k R; k e k.k l k au h t UeHk j  l kF k fn yh- r sF k s  i z k at G  v kp k j  o  Hk k o u k 

feG r kr ]  v k o Mr s e k.k wl  o  v k o M r s i q Lr d  ; k ae /; s fu o M  d j .; kp k i z lax v kyk  v l r k 

i q Lr d  [ k kyh i Mrs e k.k l kp k g k r  i Vd u  /k jr ks]  R ; k r hy Å c  eyk t k.k o rs-  

 ¼1 ½ ys[ kd kyk e k.k l k ai s{k k i q Lr d s d k v k o M r kr \ 

 ¼2 ½ d k s.kR; k i z d k j ; k ful xZ  ys[ kd kyk v k o M r  u kg h\ 

 ¼3 ½ i q Lr d kr hy e k.k l kap s f o ’k s " k d k s.k r s\ 

 ¼4 ½ i q Lr d  v kf.k e k.k wl  ; ke/; s fu o M  d j k;p h v l Y; kl  ys[ kd  d k s.k kyk fu o M sy\ 

 ¼5 ½ ; k sX ; r s 'k h" k Z d  fyg k- 

i z -2 5 [ k kyhyi S d h d ks.kR; kg h , d k f o " k; k oj  fu ca/k fyg k- ¼1 0 ½¼1 0 ½¼1 0 ½¼1 0 ½ 

 ¼1 ½ o ` Rr i= kps eg Ro  

 ¼2 ½ f o K kukps p eRd k j  

 ¼3 ½ [ k sG kps eg Ro  

 ¼4 ½ g e kykp h t h ou O ;F k k 

 ¼5 ½ i fg yk i kÅ l 

 

&&&&&&&&&&& &&  
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fo"k;fo"k;fo"k;fo"k;    %%%%    laLd`relaLd`relaLd`relaLd`re~~~~    

Subject : SANSKRIT 
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Time : 03 Hours  Maximum Marks : 100 

funsZ’kk%funsZ’kk%funsZ’kk%funsZ’kk%        

    ¼1½¼1½¼1½¼1½        losZ iz’uk% vfuok;kZ% lfUrAlosZ iz’uk% vfuok;kZ% lfUrAlosZ iz’uk% vfuok;kZ% lfUrAlosZ iz’uk% vfuok;kZ% lfUrA    

    ¼2¼2¼2¼2½½½½    iz’ukuke~ lEeq[ks viz’ukuke~ lEeq[ks viz’ukuke~ lEeq[ks viz’ukuke~ lEeq[ks vVkkkk% iznŸkk% iznŸkk% iznŸkk% iznŸkk%A%A%A%A    

iz-1 'kwyikf.k bfr d% dF;rs ¼1½¼1½¼1½¼1½ 

 ¼d½ fo".kq%   
 ¼[k½ f’ko% 
 ¼x½ bUæ% 
 ¼?k½ pUæ% 
iz-2 lnkpkj% bfr ikBs dqya dsu j{;sr~\ ¼1½¼1½¼1½¼1½ 

 ¼d½ o`Ÿksu   
 ¼[k½ lR;su 
 ¼x½ ;ksxsu  
 ¼?k½ e`t;k 
 iz-3 ^izk.kL; Js"BRoe~* bfr ikBs eulk tuk% fda dqoZfUr\ ¼1½¼1½¼1½¼1½ 

 ¼d½ i';fUr   
 ¼[k½ _.ofUr 
 ¼x½ onfUr 
 ¼?k½ n;k;fUr 
 iz-4 xhrk e`re~ ikBsa xqjks% iwtua dhn`’k% ri% vfLr\ ¼1½¼1½¼1½¼1½ 

 ¼d½ okæ e;e~  
 ¼[k½ ekule~ 
 ¼x½ rkile~ 
 ¼?k½ 'kkjhje 
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 iz-5 ^iq=ks·ga i`fFkO;k%* bfr ikBs æqe% dfr iq=% le% vfLr\ ¼1½¼1½¼1½¼1½ 

 ¼d½  i¥p 
 ¼[k½ n’k 
 ¼x½ "kV~ 
 ¼?k½ uo 
 iz-6 ^^es fiz;ks HkkjrHkO;ns’k%** bfr ikBs izFke ekuo lH;rk dhn`’kh vfLr\ ¼1½¼1½¼1½¼1½ 

 ¼d½  HkfDriznk 
 ¼[k½ 'kkafriznk 
 ¼x½ eks{kiznk 
 ¼?k½ Kkuiznk 
 iz-7 n’kfHk% bfr ins dk foHkfDr%\ ¼1½¼1½¼1½¼1½ 

 ¼d½ lIreh   
 ¼[k½ r`rh;k 
 ¼x½ prqFkhZ 
 ¼?k½ izFkek 
 iz-8 ^vtk* bfr ins izR;; vfLr\  ¼1½¼1½¼1½¼1½ 

 ¼d½  Vki~ 

 ¼[k½ vki~ 

 ¼x½ tki~ 

 ¼?k½ Kki~ 

 iz-9 v/kksfyf[krs"kq vO;;e~ vfLr& ¼1½¼1½¼1½¼1½ 

 ¼d½  iq= 

 ¼[k½ i= 

 ¼x½ dq= 

 ¼?k½ lw= 

 iz-10 v/kksfyf[krs"kq ins"kq milxZ ;qDr ine~ vfLr& ¼1½¼1½¼1½¼1½ 

 ¼d½  vorkj% 

 ¼[k½ lw;ksZn;% 

 ¼x½ vklhr~ 

 ¼?k½ i¥poVh 
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iz-11 vk;ZHkVL; tUe dnk vHkor~\ rsu d% xzUFk% jfpr%\ ¼2¼2¼2¼2½½½½    

iz-12 v/kksfyf[kr i|L; vUo;s fjDr LFkkukfu iwj;r& ¼2¼2¼2¼2½½½½    

    fo|;k LQh;rs Kku Kkukr~ rRofun’kZue~A  

 n`"V rŸoks fouhrkRek lokZFkZL; p Hkktue~AA 

 fo|;k &&&&LQh;rs] &&&& rŸofun’kZue]  

 n`"VrRRo% &&&& p lokZFkZL; &&&& ¼Hkofr½ 

iz-13 fojgdkrja riksoua bfr ikBs ^^lekzta lrqe~ vokjuqfga** bfr d% dke~ dFk;fr\ ¼2¼2¼2¼2½½½½    

iz-14 mfpra 'kq) esyua dq#r& ¼2¼2¼2¼2½½½½    

        vvvv cccc   

 ¼d½ mŸkjs     (i) J`axsjh eBe~ 

 ¼[k½ nf{k.ks     (ii) 'kkjnk ihBe~ 

 ¼x½ iwosZ     (iii) T;ksfreZBe~ 

 ¼?k½ if’pes    (iv) xkso/kZue ihBe~  

iz-15 dks"Vdkr~ leqfpra ina fpRok fjDrLFkkukiwfrZa dq#r& ¼2¼2¼2¼2½½½½    

    ¼d½ nSR; lsuk &&&&&&&&&&izfr /kkofrA ¼nsolsuke~] nsolsukuke~½ 

 ¼[k½ &&&&&&&&&&uh·kfu u irs;q%A ¼o`{kL;] o`{kkr~½ 

iz-16 v/kksfyf[kr fjDrLFkkukfu iwjf;Rok 'yksd&fuekZ.k dq#r& ¼2¼2¼2¼2½½½½    

    czkges &&&mfŸk"Bsr~&&&j{kkFkZek;q"k%A 

 &&&ifjR;T; 'kjhjeuq&&&&&AA 

iz-17 'kqu% ¼dqDdqjL;½ }kS xq.kkS o.kZ;rA ¼2¼2¼2¼2½½½½    

iz-18 dfo Hkklsu jfpr ukVd };L; ukEuh fy[krA ¼¼¼¼2222½½½½    

iz-19 v/kksfyf[kr o.kkZuka leqfpr mPpkj.k LFkku dks"Bdkr fpRok fy[kr& ¼2¼2¼2¼2½½½½    

 ¼d½ v & ¼d.B@ftºok½ 
 ¼[k½ y~ & ¼nUrk%@rkyq½ 
iz-20 fuEufyf[krs"kq };ks% in;ks% lfU/k foPNsna d`Rok lfU/kuke fy[kr& ¼2¼2¼2¼2½½½½    

    (i) fo|ky; 
 (ii) x.ks’k% 
 (iii) ,dSd% 
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iz-21 v/kksfyf[kr 'kCns"kq };ks% 'kCn;ks% :ikf.k funsZ’kkuqlkja f="kq opus"kq fy[kr& ¼2¼2¼2¼2½½½½    

    ¼d½ ckyd & r`rh;k foHkfDr% 

 ¼[k½ ekyk & f}rh;k foHkfDr% 

 ¼x½ lk/kq & izFkek foHkfDr% 

 ¼?k½ unh & prqFkhZ foHkfDr% 

iz-22 v/kksfyf[kr inL; foHkfDra opua p fy[kr& ¼2¼2¼2¼2½½½½    

 vLekde~ vFkok ;w;e~ 

iz-23 v/kksfyf[krs"kq in };L; izdqfr&izR;;a p i`Fkd~ dq#r& ¼2¼2¼2¼2½½½½    

    ¼d½ dfFkroku~ 

 ¼[k½ xRok 

 ¼x½ fojP; 

 ¼?k½ lsoeku~ 

iz-24 v/kksfyf[krs"kq /kkrqa izR;;a p la;ksT; };ks% in;ks% fuekZ.ka dq#r& ¼2¼2¼2¼2½½½½    

    ¼d½ vf/kd $ rji~ 

 ¼[k½ lekt $ Bd~ 

 ¼x½ cgq $ =Hk 

 ¼?k½ xq: $ Ro 

iz-25 fuEufyf[kr /kkrq"kq };ks% /kkrq #ikf.k funsZ’kkuqlkja fy[kr& ¼2¼2¼2¼2½½½½    

    ¼d½ ip/kkrq% & yV~ydkj mŸkeiq:"k%   

 ¼[k½ xe/kkrq% & yæ ydkj% izFkeiq:"k% 

 ¼x½ dFk/kkrq% & yksV~ydkj% mŸkeiq:"k% 

iz-26 v/kksfyf[krs"kq okD;s"kq dks"Bdkr~ mfpr /kkrq inS% fjDrLFkkukfu iwj;r~& ¼2½¼2½¼2½¼2½ 

    ¼d½ ,d% ckyd% ¼fy[kfUr@fy[kfr½ 

 ¼[k½ Jhjke v;ks/;k;k% u`i% ¼vklhr~@vfLr½ 
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iz-27 leklk/kkfjr ;qXeesyua dq#r% ¼2½¼2½¼2½¼2½    

        vvvv cccc   

 ¼d½ ihrkEcj%    (i) vO;;hHkko lekl% 

 ¼[k½ nhunkue~    (ii) f}xq lekl% 

 ¼x½ lpØe    (iii) cgqczhfg lekl% 

 ¼?k½ i¥poVh    (iv) rRiq:"k lekl% 

iz-28 v/kksfyf[kr ins"kq };ks% in;ks% foxzga d`Rok leklukekfu fy[kr& ¼2½¼2½¼2½¼2½    

    ¼d½ pUæ’ks[kj% 

 ¼[k½ f=Hkqoue~ 

 ¼x½ jktiq:"k% 

 ¼?k½ /kekZFkkSZ 

iz-29 v/kksfyf[kr x|ka’ka ifBRok iz’ukukeqŸkjkf.k laLd`rHkk"kk;ka fy[kra& ¼3¼3¼3¼3½½½½    

     yhykorh HkkLdjkpk;L; iq=h vklhr~ bfr eU;rsA HkkLdjkpk;Z% Locqf)eR;k% iq«;k% f’k{k.kk; 

rL;k% euksfouksnk; p xf.kra le/kqjdkO;su vjp;r~A rsu jfprkuka 'yksdkuka læ xzg% yhykorh 

ukEuk vkEukr%A 

 ¼d½ HkkLdjkpk;ZL; iq«;k% fda uke vklhr~\ 

 ¼[k½ HkkLdjkpk;Z% iq«;k% f’k{k.kk; da le/kqj dkO;su vjp;r~\ 

 ¼x½ rsu jfprkuka laxzg% dsu ukEuk vkEukr%\ 

iz-30 v/kksfyf[kra i|ka’ka ifBRok iz’ukuke~ mŸkjkf.k laLd`rHkk"kk;ke~ fy[kr& ¼3½¼3½¼3½¼3½ 

 ekrk xq#rjk Hkwes% [kkr~ firksPprjLrFkkA 

 eu% 'kh?kzrja okrkfPpUrk cgqrjh r`.kkr~AA 

 ¼d½ Hkwes% xq#rjk dk\ 

 ¼[k½ vkdk’kkr~ ¼[kkr~½ mPprj% fde~\ 

 ¼x½ fpUrk dLekr~ cgqrjh\ 
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iz-31 v/kksfyf[kra ukV~;ka’ka ifBRok iz’ukuke~ mŸkjkf.k laLd`r Hkk"kk;ka fy[kr& ¼3½¼3½¼3½¼3½    

    ¼}kjiky% do;s nqX/kiw.kZ Lo.kZ ik=a ;PNfrA dfo% rRik=a Lohdjksfr fpUr;fr pA½ 

 dfo% & }kjikyA ;fn 'kdZjk vfLr\ vfLr psr~ fdafpr nsfgA 

 }kjiky% & vke~ v= 'kdZjk;k% vHkkoks ukfLrA }kjiky% 'kdZjkeknk; do;s ;PNfrA dfo 

nqX/kik=s 'kdZjka feJf;Rok izR;iZ;frA rn~x`ghck }kjiky% jktkua izfr xPNfrA 

 ¼d½ dfo% da Lohdjksfr\ 

 ¼[k½ dfo% fda dFk;fr\ 

 ¼x½ }kjiky% 'kdZjkeknk; dLeS ;PNfr\ 

iz-32 v/kksfyf[kr iz’us"kq =;k.kka iz’ukuke~ mŸkjkf.k laLd`r Hkk"kk;ke~ ,d insu fy[kr& ¼3½¼3½¼3½¼3½    

    ¼d½ jDreq[k% okuj% dq= olfr Le\ 

 ¼[k½ i`fFkoh da ifjr% ifjHkzefr\ 

 ¼x½ d% nsokukef/ki% 'kØ% vHkor~\ 

 ¼?k½ [kju[kjks uke flag% dq=a izfr olfr Le\ 

 ¼M-½ dhn`’kkfu dqlqekfu fpŸkekd"kZ;fUr\ 

iz-33 js[kkfVr ine~ vk/k`R; iz’ufuekZ.kea~ dq#r& ¼3½¼3½¼3½¼3½    

    ¼d½ bfUæ;k.kka e/;s dyg% l¥lkr%A 
 ¼[k½ ;n~Hkfo";% eRL;% fou’;frA 
 ¼x½ tusu R;kxsu HkksDrO;e~A 
iz-34 jkek;.kL; jpukdkj% d%\ jkek;.ks dfr 'yksdk% lfUr\ jkek;.kh dFkk dfr dk.Ms"kq      

foHkDr\    ¼3½¼3½¼3½¼3½    

iz-35 fHkUu izd`frda 'kCna fpuqr& ¼3½¼3½¼3½¼3½    

    ¼d½ lTtu%] fnXxt%] rV~Vhdk] euksjFk%A 

 ¼[k½ ueLrs] df’pr~] lfPpr~] xqjksjkns’k%A 

 ¼x½ lRdkj%] euksgj%] rYyhu%] fnxEcj%A 

iz-36 v/kksfyf[krs"kq dkjd okD;s"kq iz;qDrka foHkfDra fy[;rke~& ¼3½¼3½¼3½¼3½    

    ¼d½ ^dRkkZdkjds* dk foHkfDr% Hkofr\ 

 ¼[k½ ^ifjr%* ;ksxs dk foHkfDr% Hkofr\ 

 ¼x½ ^ue%% ;ksxs dk foHkfDr% Hkofr\ 
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iz-37 v/kksfyf[krs"kq dL;fpr~ ,dL; pfj=fp=.ka i¥pokD;s"kq dq#r& ¼5¼5¼5¼5½½½½    

    (i) jktk Hkkst% 

 (ii) yo% 

 (iii) 'kØ% 

iz-38 LoikB~;iqLrds lekxrku~ dFkklq dL;fpn~ ,dL; lkja i¥pokD;s"kq fy[kr\ ¼5¼5¼5¼5½½½½    

iz-39 eUtw"kkr% inkfu fpRok ^^o`{kk.kke~ egRoe** bfr fo"k;s i¥pokD;s"kq ,de~ vuqPNsna fy[kr& ¼5¼5¼5¼5½½½½    

        vkS"k/ke~] dk"Be~] lgk;dk%] Qykfu 

  iq"ikf.k] j{kdk%] ;PNfUr] izdr̀s% 

  izk.kok;qe~] i;kZoj.kL;] Nk;ke~] 'kksHkk 

 

iz-40 ijh{kk;ke~ izFke LFkkuksiyC/k;s Hkzk=s o/kkZiui=e~ fy[krA ¼5¼5¼5¼5½½½½    

vFkokvFkokvFkokvFkok    

 f’k{kdins p;uL; voljs Lofe=k; o/kkZiui=e~ fy[krA ¼5¼5¼5¼5½½½½    

iz-41 v/kksfyf[kr vifBr x|ka’ka ifBRok iz’ukukeqŸkjkf.k laLd`r Hkk"kk;ka fy[krA ¼5¼5¼5¼5½½½½    

    lalkjs vusds"kka nq%[kkuka ewydkj.ke~ vKkue~ ,oA vKkukr~ ,o lekts ukukfodkjk.kka tUe 

HkofrA fgalk Hkz"Vkpkjkn;% ;s minzok% vLeku~ ihM~;fUr rs"kka ewye~ vf’k{kk ,o orZrsA o;a 

f’k{kk;k% izdk’ksu vKkuL; vU/kdkja grq± lTtk% HkoseA 

 ¼d½ vL; x|ka’kL; 'kh"kZda fy[krA 

 ¼[k½ nq%[kkuka ewydkj.ka fde~\ 

 ¼x½ lekts vusds fodkjk% dFka tk;Urs\ 

 ¼?k½ ds minzok% vLeku~ ihM~;fUr\ 

 ¼M-½ vKkuL; vU/kdkja grq± o;a fda dq;kZe\ 



[209]          Page 8 of 8                                                    

iz-42 iznŸk fp=e~ voyksD; i¥pokD;kfu jp;r&  ¼5½¼5½¼5½¼5½ 

             

   

  

 

&&&&&&&&&&&&&&&&&&&&&&&&&& 
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dqy iz’uksa dh la[;k % 26            dqy i`"Bksa dh la[;k % 11 

Total No. of Questions : 26  Total No. of Pages : 11 

211 
fo"k; %fo"k; %fo"k; %fo"k; %    xf.krxf.krxf.krxf.kr    

Subject : MATHEMATICS 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     

    (i) lHkhlHkhlHkhlHkh        iz’u vfuok;Ziz’u vfuok;Ziz’u vfuok;Ziz’u vfuok;Z    gSaAgSaAgSaAgSaA    

    (ii) iz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,Aiz’ui= esa fn, x, funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mŸkj fyf[k,A    

 (iii) iz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*Aiz’ui= esa nks [k.M fn, x, gSa [k.M ^v* vkSj [k.M ^c*A 

 (iv)        [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  [k.M ^v* esa fn, x, iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;s iz’u 5 vad dk  

gSAgSAgSAgSA    

    (v) [k.M ^c* esa iz[k.M ^c* esa iz[k.M ^c* esa iz[k.M ^c* esa iz’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA’u Øekad 6 ls 26 rd vkarfjd fodYi fn, x, gSaA    

 (vi) iz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSA 

 (vii)    iz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSA    

    (viii) iz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSA     

 (ix) iz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSA    

Instructions:- 

  (I) All questions are compulsory.    

 (ii)  Read instructions carefully of the question paper and then write answer of the 

questions. 

 (iii) Question paper has two sections- Section ‘A’ and Section ‘B’ 

 (iv) In the section ‘A’ Question Nos.1 to 5 are objective types. Each question carries 5 

marks. 

 (v) In the section ‘B’ Question Nos. 6 to 26 has internal option. 

 (vi) Q. Nos. 6 to 10 carries 2 marks each  

 (vii) Q. Nos. 11 to 14 carries 3 marks each 

 (viii) Q. Nos. 15 to 21 carries 4 marks each 

 (ix) Q. Nos. 22 to 26 carries 5 marks each  
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[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

iz-1 lgh fodYi pqudj fyf[k,&        ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Choose the correct option-  

 (i) 3 27 dk eku gksxk&   

  ¼v½ 2       ¼c½ 3  

  ¼l½ 5       ¼n½ 9  

  The value of 3 27  is- 

  (a) 2       (b) 3  

  (c) 5       (d) 9  

  (ii) oxZ lehdj.k x2 + 5 x + 6 = 0 ds ewyksa dk ;ksxQy gksxk&  

  ¼v½ 
1

5−
       ¼c½ 

1

5+
  

  ¼l½ 
5

1
       ¼n½ 

5

1−
  

  The sum of Roots of Quadratic equation x2 + 5 x + 6 = 0 is- 

  (a) 
1

5−
       (b) 

1

5+
  

  (c) 
5

1
       (d) 

5

1−
  

 (iii) fcUnq ¼&2] 5½ fuEu esa ls fdl prqFkkZ’k es fLFkr gS\   

  ¼v½ izFke       ¼c½ f}rh;  

  ¼l½ r`rh;       ¼n½ prqFkZ   

  In which quadrant the point (-2, 5) lies? 

  (a) First       (b) Second  

  (c) Third       (d) Fourth 
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 (iv) 200 `dk 5 o"kZ dk 10% ljy C;kt dh nj ls C;kt gksxk&   

  ¼v½ 100 `      ¼c½ 150 `  

  ¼l½ 200 `      ¼n½ 250 `  

  The interest of amount 200 ` at 10% Rate of simple interest for 5 year is-  

  (a) 100 `       (b) 150 `  

  (c) 200 `      (d) 250 `  

 (v) o`Ÿk ds {ks=Qy dk lw= gS&    

  ¼v½ π r       ¼c½ π
2r  

  ¼l½ π r2       ¼n½ 2πr  

  Formula for the area of circle is- 

  (a) π r       (b) π
2r  

  (c) π r2       (d) 2πr   

iz-2 fjDr LFkkuksa dh iwfrZ dhft,&                                            ¼1¼1¼1¼1××××5555====5½5½5½5½   

 Fill in the blanks- 

 (i) cgqinksa 12x3 – 3y2        o 3x2 + 2y2    dk ;ksx gksxk ------------------------------------  

  The sum of polynomials 12x3 – 3y2  and  3x2 + 2y2 is …………….. 

 (ii) ,d prqHkqZt ds rhu dks.k Øe’k% 108°] 75°] 83° gS] rc pkSFks dks.k dk eki gksxk--------------- 

  If three angles of a Quadrilateral are 108°, 75°, 83°, then the measure of the fourth angle 

is…………………… 

 (iii) ,d oxZ dh ifjeki 4a gSA bldh ,d Hkqtk dh yEckbZ gS-------------------------------- 

  The perimeter of square is 4a. The length of one side of square is……………….. 

 (iv) 3 3    3 9 × dk eku gksxk-------------------------------A 

  The value of 3 3    3 9 ×  is……………………….. 

 (v) ;fn fdlh lef}ckgq f=Hkqt ds leku dks.k 50° ds gS] rks mlds vleku dks.k dh eki 

gksxh------------------------------A 

  If the equal angles of an isosceles triangle are 50° each, then its unequal angle is……… 
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iz-3 lgh tksM+h cukb,%                                                         ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Match the correct Pair: 

  ^v* ‘A’      ^c* ‘B’ 

 (i) sin (90 - θ)     (a) i    
f Σ

fx Σ
    

1
×+l   

 (ii) cos (90 - θ)     (b) cos θ 

 (iii) tan (90 - θ)     (c) 
( )

( ) ( )
12

201

01

1
 -     

f - f - 2f

f - f

    lll ×+    

 (iv) lekUrj ek/; (Arithmetic mean) (d) sin θ 

 (v) cgqyd (Mode)    (e) cot θ  

iz-4 fuEufyf[kr dFkuksa esa lR;@vlR; fyf[k,&                                 ¼1¼1¼1¼1××××5555====5½5½5½5½    

 Write true / false in following statements- 

 (i) lehdj.k x + 2y = 5 es ;fn x = 1 gks] rks y dk eku 2 gksxkA 

  In equation x + 2y = 5, if x = 1 then y will be equal to 2. 

 (ii) nks vuqikrksa dh lekurk dks lekuqikr dgrs gSaA 

  The similarity of two ratios is called proportion. 

 (iii) vk¡dM+ksa ds vkSlr eku dks ek/; dgrs gSaA 

  The average of data is called as mean. 

 (iv) v)Zo`Ÿk ij cuk dks.k nks ledks.k gksrk gSA 

  The angle of a semicircle is always equal to two right angles. 

 (v) 1 + cot2 θ = cosec2 θ gSA 

  The value of 1 + cot2 θ = cosec2 θ. 
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iz-5 ,d 'kCn@okD; esa mŸkj nhft,&                                            ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) ,slk lehdj.k ftldk vkys[k ,d ljy js[kk gksrh gS] mls D;k dgrs gSa\ 

  The equation for which the graph is a straight line is called as…………. 

 (ii) 9 % 25 dk oxkZuqikr D;k gS\ 

  What will be the duplicate ratio of 9 : 25? 

 (iii) izFke ik¡p la[;kvksa dk lekUrj ek/; gksrk gS\ 

  What is the Arithmetic mean of first five natural numbers? 

 (iv) fdlh ?kVuk ds fuf’pr ?kfVr gksus dh izkf;drk dk D;k eku gksrk gS\ 

  What is the probability of happening of a certain event? 

 (v) pØh; prqHkqZt es ,d dks.k dk eku 100° gS] rks blds lEeq[k dks.k dk eku fdruk 

gksxk\ 

  In a cyclic quadrilateral, if one angle is 100°, then what will be its opposite angle? 

[k.M & c[k.M & c[k.M & c[k.M & c    

SECTION – B 

iz-6  
811

5

7
    

5

7








÷







 dk eku Kkr dhft, ¼2½¼2½¼2½¼2½ 

 Find the value of 

811

5

7
    

5

7








÷








 

vFkokvFkokvFkokvFkok@@@@OR 

 

2
3

3

1



















 dk eku Kkr dhft,A 

 Find the value of 

2
3

3

1




















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iz-7 ;fn 6 % 10 % % x % 25 gks rks x dk eku Kkr dhft,A ¼2½¼2½¼2½¼2½ 

 If 6 : 10 : : x : 25, then find the value of x. 

vFkvFkvFkvFkokokokok@@@@OR 

 4] 10 dk r`rh;kuqikr Kkr dhft,A 

 Find the third proportion of 4, 10. 

iz-8 ,d f=Hkqt dk ,d dks.k 30° rFkk nwljk dks.k 60° gS] rks rhljk dks.k Kkr dhft,A ¼2½¼2½¼2½¼2½    

 In a triangle, if one angle is 30° and second angle is 60°, then find the value of third angle.  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d f=Hkqt ds dks.kksa dk vuqikr 2 % 3 % 5 gS rks f=Hkqt ds dks.k Kkr dhft,A 

 In a triangle, the ratio of angle is 2 : 3 : 5, then find the angles of the triangle. 

iz-9 ;fn sin θ = 20 / 29 gks rks cos θ vkSj tan θ dk eku Kkr dhft,A ¼2½¼2½¼2½¼2½    

 If sin θ = 20 / 29, then find the value of cos θ and tan θ. 

vFkokvFkokvFkokvFkok@@@@OR 

 ;fn cot B = 5 / 4 gks rks fl) dhft, fd cosec2 B = 1 + cot2 B. 

 If cot B = 5 / 4, then prove that cosec2 B = 1 + cot2 B. 

iz-10 izFke 5 fo"ke la[;kvksa dk ek/; Kkr dhft,A ¼2½¼2½¼2½¼2½    

 Find the Arithmetic mean of first five odd numbers. 

vFkokvFkokvFkokvFkok@@@@OR 

 15] 25] 18] 16] 25] 19] 18] 25] 16] 19] 25] dk cgqyd Kkr dhft,A 

 Find the mode of 15, 25, 18, 16, 25, 19, 18, 25, 16, 19, 25. 

iz-11 xq.ku[kaM dhft,  %&   x2 + 9x + 20 ¼3¼3¼3¼3½½½½    

 Factorize  :-   x2 + 9x + 20 

vFkokvFkokvFkokvFkok@@@@OR 

 gy dhft,  %&  8 (x + 1) = 16 

 Solve    :-   8 (x + 1) = 16 
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iz-12 ;fn 
5

2
    

b 4  a 3

b 4 - a 3
=

+
 gks rks a : b dk eku Kkr dhft,A ¼3¼3¼3¼3½½½½    

 If  
5

2
    

b 4  a 3

b 4 - a 3
=

+
 , then find the ratio between a and b. 

vFkokvFkokvFkokvFkok@@@@OR 

 nks la[;kvksa dk vuqikr 11 % 16 gS] buesa D;k tksM+sa fd ;g vuqikr 3 % 4 gks tk,\ 

 The ratio between two numbers is 11 : 16 then what should be added to make the ratio 3 : 4? 

iz-13 Kkr dhft, %& 440 dk 15% ¼3¼3¼3¼3½½½½    

 Evaluate :- 15% of 440 

vFkokvFkokvFkokvFkok@@@@OR 

 240 dk fdruk izfr’kr 96 gksxk\ 

 What percent of 240 is 96? 

iz-14 ¼3] 2½ rFkk ¼11] 8½ ds chp dh nwjh Kkr dhft,A ¼3¼3¼3¼3½½½½    

 Find the distance between (3, 2) and (11, 8). 

vFkokvFkokvFkokvFkok@@@@OR 

 fn[kkb, fd fcUnq ¼1] 1½] ¼3] 0½ rFkk ¼&1] 2½ lajs[k gSA 

 Show that the points (1, 1), (3, 0) and (-1, 2) are collinear. 

iz-15 ,d f=Hkqt ds ifjxr o`Ÿk dh jpuk dhft, ftlesa BC = 6cm, ∠B = 55° ,oa ∠C = 70°A jpuk 

ds in Hkh fyf[k,A  ¼4½¼4½¼4½¼4½    

 Construct the circum circle of the triangle, whose one side BC = 6cm, ∠B = 55° and ∠C = 70°. 

Also write steps of construction. 

vFkokvFkokvFkokvFkok@@@@OR 

 ∆ABC ds vUr% o`Ÿk dh jpuk dhft,] tgk¡ AB = 4 cm, BC = 5 cm rFkk AC = 6 cmA jpuk ds 

in Hkh fyf[k,A 

 Construct the incircle of a triangle whose sides AB = 4 cm, BC = 5 cm and AC = 6 cm. Also 

write steps of construction. 
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iz-16 1200 `ij 5% C;kt dh nj ls 4 o"kks± dk pØo`f) C;kt vkSj feJ/ku fudkfy,A ¼4½¼4½¼4½¼4½    

 Find the compound interest and amount for ` 1200 at the rate of 5% per annum interest for 4 

years. 

vFkokvFkokvFkokvFkok@@@@OR 

 2000 :i;s ij 3 o"kZ ds fy, 5% dh nj ls lk/kkj.k ,oa pØo`f) C;kt dk vUrj Kkr 

dhft,A 

 Find the difference between compound interest and simple interest for ` 2000 at the rate of 

5% per annum interest for 3 years. 

iz-17 lehdj.k gy dhft, ¼foyksiu fof/k½ ¼4½¼4½¼4½¼4½    

 3x + 2y = 11 

 2x + 3y = 4 

 Solve the equation by elimination method: 

 3x + 2y = 11 

 2x + 3y = 4 

vFkokvFkokvFkokvFkok@@@@OR 

 ljy dhft,%& 

 
1 -x 

2 -x 
    

1 -x 

2 x 
+

+
 

 Simplify :- 

 
1 -x 

2 -x 
    

1 -x 

2 x 
+

+
 

iz-18 ,d ?kukHk dh yEckbZ] pkSMk+bZ vkSj Å¡pkbZ Øe’k% 12cm, 11cm rFkk 10cm gSA rks ?kukHk dk 

i`"Bh; {ks=Qy Kkr dhft,A ¼4½¼4½¼4½¼4½    

 If the length, breadth and height of a cuboid is 12cm, 11cm and 10cm, then find the surface 

area of cuboid.  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d ?ku dh dksj 6cm gS rks ?ku dk lEiw.kZ i`"B Kkr dhft,A 

 If the edge of the cube is 6cm, then find its surface area. 
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iz-19 fl) dhft, %& ¼4½¼4½¼4½¼4½    

 sin 60° = 2 sin 30° cos 30° 

 Prove that:- 

 sin 60° = 2 sin 30° cos 30° 

vFkokvFkokvFkokvFkok@@@@OR 

 fl) dhft, %& 

 °=
+

°°
30   tan    

30 tan 60 tan  1

30 tan - 60tan 
 

 Prove that :- 

 °=
+

°°
30   tan    

30 tan 60 tan  1

30 tan - 60tan 
 

iz-20 fuEu lkj.kh ls iz’uksa ds mŸkj nhft, & ¼4½¼4½¼4½¼4½    

 Give answer from the following table 

oxZ (Class) 15&20 20&25 25&30 30&35 35&40 

ckjEckjrk 

(frequency 

2 3 5 7 4 

  

 (i) izFke oxZ dh fuEu oxZ lhek fyf[k,A 

  Write lowest limit of initial (first) class 

 (ii) oxZ varjky Kkr dhft,A 

  Find the class interval. 

 (iii) lap;h ckjEckjrk lkj.kh crkb,A 

  Find the cumulative frequency for given table. 

vFkokvFkokvFkokvFkok@@@@OR 

  cgqyd Kkr dhft,%& 

  8] 10] 15] 10] 12] 8] 15] 10] 8] 10] 12] 13 

  Find the value of mode:- 

  8, 10, 15, 10, 12, 8, 15, 10, 8, 10, 12, 13 
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iz-21 ,d ik¡ls dks Qsadus ij 4 ls vf/kd vad vkus dh izkf;drk Kkr dhft,A ¼4½¼4½¼4½¼4½    

 In a single throw of a dice, find the probability of getting more than 4. 

vFkokvFkokvFkokvFkok@@@@OR 

 nks flDdksa dks ,d lkFk mNkyus ij de ls de ,d fpŸk Åij vkus dh izkf;drk Kkr 

dhft,A 

 If two coins are tossed simultaneously then what is the probability of getting at least one Head. 

iz-22 lehdj.k x2 + 4x + 3 = 0 dks lw= fof/k ls gy dhft,A ¼5½¼5½¼5½¼5½    

 Solve the equation x2 + 4x + 3 = 0 by using formula method. 

vFkokvFkokvFkokvFkok@@@@OR 

 ;fn fdlh lehdj.k ds ewy 52   5,  gks rks lehdj.k Kkr dhft,A 

 If the roots of an equation are 52 and   5, , then find the equation.  

iz-23 ,d f=Hkqt ds 'kh"kks± ds funsZ’kkad ¼3] &1½] ¼10] 7½ rFkk ¼5] 3½ gSa] rks f=Hkqt ds dsUæd ds 

funsZ’kkad Kkr dhft,A  ¼5½¼5½¼5½¼5½    

 Find the coordinate of the centroid of the tringle whose vertices are (3, -1) (10, 7) and (5, 3). 

vFkokvFkokvFkokvFkok@@@@OR 

 fcUnqvksa ¼&7] 0½ rFkk ¼0] 10½ dks feykus okys js[kk[kaM ds e/; fcUnqvksa ds funsZ’kkad Kkr 

dhft,A 

 Find the mid point of the line joining the points (-7, 0) and (0, 10). 

iz-24 3-5 lseh- f=T;k ds o`Ÿk dh ifjf/k rFkk {ks=Qy Kkr dhft,A ¼5½¼5½¼5½¼5½    

 Find the circumference and area of a circle whose radius is 3.5 cm. 

vFkokvFkokvFkokvFkok@@@@OR 

 fdlh ?ku dk i"̀B {ks=Qy 96 oxZ lseh gSA mldk vk;ru Kkr dhft,A 

 If the surface area of a cube is 96 cm2 , then find its volume. 
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iz-25 ;fn θ = 30°] rks fl) dhft, fd& ¼5½¼5½¼5½¼5½    

 
θ  tan- 1

θ tan 2
    θ 2tan 

2
=  

 If θ = 30°, then prove that- 

 
θ  tan- 1

θ tan 2
    θ 2tan 

2
=  

vFkokvFkokvFkokvFkok@@@@OR 

 ,d ehukj ds vk/kkj ls 50m dh nwjh ij ,d fcUnq ls ehukj dh pksVh dk mUu;u dks.k 45° 

dk gSA ehukj dh Å¡pkbZ Kkr dhft,A 

 The angle of elevation of a point situated at a distance 50m from the base of a tower is 45°. 

Find the height of tower.   

iz-26 fuEu rkfydk ls lekUrj ek/; dh x.kuk dhft,% ¼5½¼5½¼5½¼5½ 

 Calculate the arithmetic mean of following table:  

Marks ¼izkIrkad½ 0&10 10&20 20&30 30&40 40&50 

No. of students 

¼fo|kfFkZ;ksa dh la[;k½ 
5 3 4 3 3 

 

 vFkokvFkokvFkokvFkok@@@@OR 

 fuEu vk¡dM+ksa dh ef/;dk Kkr dhft,% 

 Find the median for the following data: 

 38, 70, 48, 34, 42, 55, 63, 46, 54, 44 

 

---------------------------------- 
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d qy iz’uksa d h la[;k % 20 d qy i`"Bksa d h la[;k % 08 

Total No. of Questions : 20 Total No. of Pages : 08 

212 
f o"k; %foKkuf o"k; %foKkuf o"k; %foKkuf o"k; %foKku     

Subject: SCIENCE 

(Hindi and English Version) 

le; % 03 ?k.Vs  iw.kk±d % 075 

Time : 03 Hours  Maximum Marks : 075 

 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     
    (i)    lHkh  lHkh  lHkh  lHkh  iziziziz ’u vfuok;Z gSaA’u vfuok;Z gSaA’u vfuok;Z gSaA’u vfuok;Z gSaA     

    (ii)    iz’u iz’u iz’u iz’u ØØØØ ek ¡d 1 ls 4ek ¡d 1 ls 4ek ¡d 1 ls 4ek ¡d 1 ls 4     rd oLrqfu"B iz’u gSrd oLrqfu"B iz’u gSrd oLrqfu"B iz’u gSrd oLrqfu"B iz’u gS aA  izR;sd iz’u d s fy, 1aA  izR;sd iz’u d s fy, 1aA  izR;sd iz’u d s fy, 1aA  izR;sd iz’u d s fy, 1××××5555     ¾¾¾¾     5 vad fu/kkZfjr 5 vad fu/kkZfjr 5 vad fu/kkZfjr 5 vad fu/kkZfjr 

    gSgSgSgS aa aa AAAA     d qy v ad 5d qy v ad 5d qy v ad 5d qy v ad 5××××4444     ¾¾¾¾     20 gSaA20 gSaA20 gSaA20 gSaA     
    (iii) iz’u Øek¡diz’u Øek¡diz’u Øek¡diz’u Øek¡d     5 ls 20 rd v kUrfjd fodYi fn, 5 ls 20 rd v kUrfjd fodYi fn, 5 ls 20 rd v kUrfjd fodYi fn, 5 ls 20 rd v kUrfjd fodYi fn, x,  gSx,  gSx,  gSx,  gS aAaAaAaA     
    (iv)    izR;sd iz’u d s fy, izR;sd iz’u d s fy, izR;sd iz’u d s fy, izR;sd iz’u d s fy, vkoafVr v aad muds l Eeq[kvkoafVr v aad muds l Eeq[kvkoafVr v aad muds l Eeq[kvkoafVr v aad muds l Eeq[k     vafd r gSaAvafd r gSaAvafd r gSaAvafd r gSaA     
    (v)    v frv frv frv fr     y?kqmÙkjh; iz ’u] iz’u d zeky?kqmÙkjh; iz ’u] iz’u d zeky?kqmÙkjh; iz ’u] iz’u d zeky?kqmÙkjh; iz ’u] iz’u d zek ¡d  5 l s 8  rd]  izR;sd  iz’u d h  'kC¡d  5 l s 8  rd]  izR;sd  iz’u d h  'kC¡d  5 l s 8  rd]  izR;sd  iz’u d h  'kC¡d  5 l s 8  rd]  izR;sd  iz’u d h  'kC n lhe k  yxH kx 20 n lhe k  yxH kx 20 n lhe k  yxH kx 20 n lhe k  yxH kx 20 

' kCn' kCn' kCn' kCn     gSAgSAgSAgSA     
 (vi)    y?kq  mÙkjh; iz’u]  iz’u  d zek ¡y?kq  mÙkjh; iz’u]  iz’u  d zek ¡y?kq  mÙkjh; iz’u]  iz’u  d zek ¡y?kq  mÙkjh; iz’u]  iz’u  d zek ¡ d 9  ls 12  rd]  izR;sd iz’u  d h  'kCd 9  ls 12  rd]  izR;sd iz’u  d h  'kCd 9  ls 12  rd]  izR;sd iz’u  d h  'kCd 9  ls 12  rd]  izR;sd iz’u  d h  'kC n  lhek  yxHk x 50  n  lhek  yxHk x 50  n  lhek  yxHk x 50  n  lhek  yxHk x 50  

' kCn ' kCn ' kCn ' kCn gSAgSAgSAgSA     
    (vii)    nhnhnhnh ?kZ mÙkjh;  iz’u] iz’u d zek¡d 13 ls 17 rd izR;sd iz’u d h?kZ mÙkjh;  iz’u] iz’u d zek¡d 13 ls 17 rd izR;sd iz’u d h?kZ mÙkjh;  iz’u] iz’u d zek¡d 13 ls 17 rd izR;sd iz’u d h?kZ mÙkjh;  iz’u] iz’u d zek¡d 13 ls 17 rd izR;sd iz’u d h     'kCn'kCn'kCn'kCn     lhek  yxlhek  yxlhek  yxlhek  yx Hkx Hkx Hkx Hkx 75 75 75 75 

' kCn' kCn' kCn' kCn     gSAgSAgSAgSA     
 (viii)    nhnhnhnh ?kZ  mÙkjh;  iz’u d zek¡d  18 ls 20 rd izR?kZ  mÙkjh;  iz’u d zek¡d  18 ls 20 rd izR?kZ  mÙkjh;  iz’u d zek¡d  18 ls 20 rd izR?kZ  mÙkjh;  iz’u d zek¡d  18 ls 20 rd izR ;sd iz’u d h  'kCn  lhek  yxHkx  100;sd iz’u d h  'kCn  lhek  yxHkx  100;sd iz’u d h  'kCn  lhek  yxHkx  100;sd iz’u d h  'kCn  lhek  yxHkx  100     'kCn 'kCn 'kCn 'kCn 

gSAgSAgSAgSA     
 (ix)    v ko’;d rkuqlkj LoPN ,oa ukek afd r fp= cukb,Av ko’;d rkuqlkj LoPN ,oa ukek afd r fp= cukb,Av ko’;d rkuqlkj LoPN ,oa ukek afd r fp= cukb,Av ko’;d rkuqlkj LoPN ,oa ukek afd r fp= cukb,A 

    

Instructions:- 

 (i) All Questions are compulsory. 

 (ii) Question Nos. 1 to 4 are objective type. Each question carries 1×××× 5 ¾¾¾¾ 5 marks. Total 

marks are 5 ×××× 4 ¾¾¾¾     20. 

 (iii) Internal options are given in question Nos. 5 to 20. 

 (Iv) Marks of each question are indicated against it. 

 (v) Very short answer question, question nos. 5 to 8 has word limit about 20 words 

each. 

 (vi) Short answer questions, question no. 9 to 13 has word limit about 50 words each.  

 (vii) Long answer questions, question no.13 to 17 has word limit about 75 words each.  

 (viii) Long answer questions, question no.18 to 20 has word limit about 100 words each. 

 (ix)  Draw neat and labelled diagram wherever required. 
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oLrqfu"B iz’u %&oLrqfu"B iz’u %&oLrqfu"B iz’u %&oLrqfu"B iz’u %&     

iz-1 fjDr LFkkuksa d h iwfrZ dfj, %&                                                     ¼¼¼¼ 1111××××5555 ¾5¾5¾5¾5 ½½½½     

    Fill in the blanks:- 

 (i) jDr dh deh ls -----------------------------uked jksx gksrk gSA ¼vjDrrk] ihfy;k½ 

  Deficiency of blood causes a disease called……………. (Anaemia, Jaundice)  

 (ii) vko`fr dk ek=d ----------------------------------------gSA ¼Mslhcy] gVZ~t½ 

  Unit of frequency is……………………….….. (Decibel, Hertz) 

 (iii) ewy ek=dksa ls mRiUu ek=d ---------------------------ek=d dgykrs gSaA ¼O;qRiUu]Roj.k½ 

  The units derived from basic units are called…………..units. (derived, acceleration) 

 (iv) m"ek mRlftZr djus okyh vfHkfØ;k -----------------------dgykrh gSA ¼Å"ek’kks"kh]m"ek{ksih½ 

  Heat liberating reactions are called…………….……(exothermic, endothermic) 

 (v) _.kkRed Roj.k dks -------------------------dgrs gSaaA ¼eanu] foLFkkiu½  

  Negative acceleration is called…………….. (Retardation, displacement) 

iz-2 lgh fodYi pqfu,%&                                                                                                                                                                                                         ¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½     

 Choose the right option:- 

 (1) vuohdj.kh; ÅtkZ óksr dk mnkgj.k gS&   

  (i) iou ÅtkZ  

  (ii) lkSj ÅtkZ 

  (iii) ty ÅtkZ 

  (iv) isVªksfy;e 

  Example of Non-renewable source of energy is- 

  (i) Wind energy  

  (ii) Solar energy 

  (iii) Hydel energy 

  (iv) Petroleum 
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 (2) i`Foh ij fodflr izFke tho Fkk&  

  (i) thok.kq 

  (ii) fo"kk.kq 

  (iii) 'kSoky 

  (iv) dod 

  The first living Organism developing on Earth was- 

  (i) Bacteria 

  (ii) Virus 

  (iii) Algae 

  (iv) Fungi 

 (3) dksf’kdk dk ÅtkZ/kj dgykrk gS&   

  (i) ykblkslkse  

  (ii) ekbVªksdkafMª;k 

  (iii) jkbckslkse 

  (iv) xkWYth midj.k 

  Power-House of the cell is called- 

  (i) Lysosome  

  (ii) Mitochondria 

  (iii) Ribosome 

  (iv) Golgi-apparatus 

 (4) izFke Hkkjrh; mixzg dk uke gS&  

  (i) jksfg.kh 

  (ii) HkkLdj 

  (iii) vk;ZHkV~V 

  (iv) ,Iiy 

  Write down the name of first Indian satellite. 

  (i) Rohini  

  (ii) Bhaskar 

  (iii) Aryabhatt 

  (iv) Apple 
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 (5)  fuEufyf[kr esa ls dkSulk SI ek=d ugha gS\  

  (i) ehVj 

  (ii) ikSaM 

  (iii) fdyksxzke 

  (iv) lsadM 

  Which of the following is not an SI unit? 

  (i) Metre   

  (ii) Pound 

  (iii) Kilogram 

  (iv) Second 

iz-3 lgh tksfM+;k¡ cukb,%&                                                                                                                                                                                                             ¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½     

  v      c 

 (i) feJ     (a) laosnh vax 

 (ii) ijek.kq dk ukfHkdh; ekWMy (b) fo| qrjks/kh inkFkZ 

 (iii) vHkzd     (c) :njQksMZ 

 (iv) lIrf"kZ    (d) D;wfcV 

 (v) ukd   ”  (e) rkjkeaMy 

 Match the column ‘A’ with column ‘B’ 

  ‘A’      ‘B’ 

 (i) Egypt     (a) Sensory organs 

 (ii) Nuclear model of atom  (b) Electrical insulator 

 (iii) Mica     (c) Rutherford 

 (iv) Ursa major    (d) Cubit 

 (v) Nose     (e) Constellation 
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iz-4 ,d okD;@'kCn esa mÙkj nhft, %&                                        ¼ 1¼ 1¼ 1¼ 1××××5¾5½5¾5½5¾5½5¾5½ 

 Answer in one sentence / word:-                                               

    (i) HkkSfrd jkf’k D;k gS\ 

  What is physical quantity? 

 (ii) CNG dk iwjk uke fyf[k,A 

  Write full form or full name of CNG. 

 (iii) pky dh ifjHkk"kk fyf[k,A 

  Write down the definition of speed. 

 (iv) mÙky niZ.k dk ,d mi;ksx fyf[k,A 

  Write down one use of convex mirror. 

 (v) tyeaMy fdls dgrs gSa\  

  What is called Hydrosphere? 

iz-5 ,d vEy o ,d {kkj dk jlk;fud lw= fyf[k,A  ¼2½¼2½¼2½¼2½ 

 Write down the formula of one acid and one base. 

vFkokvFkokvFkokvFkok @@@@OR 

 U;wyS.M dk v"Vd fu;e fyf[k,A  

 Write down the Newland’s law of octaves. 

iz-6 foHksnu ds i’pkr~ cuh iF̀oh dh pkj ijrksa ds uke fyf[k,A ¼2½¼2½¼2½¼2½ 

 Name the four layers the earth is differentiated into. 

vFkokvFkokvFkokvFkok @@@@OR 

 xzg ,oa mixzg dks ifjHkkf"kr dfj,A  

 Define planet and satellite. 

iz-7 vkst+ksu ijr ds {kj.k dks jksdus ds nks mik; fyf[k,A  ¼2½¼2½¼2½¼2½ 

 Write any two measures to prevent depletion of ozone layer. 

vFkokvFkokvFkokvFkok @@@@OR 

 IykLVj vkWQ isfjl (POP) ds nks mi;ksx fyf[k,A  

 Write any two uses of Plaster of Paris (POP) 
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iz-8 pUnzek ij igyk dne dc] fdlds }kjk j[kk x;k Fkk\ oks fdl vUrfj{k ;ku esa pUæek rd 

igq¡pk Fkk\     ¼2½ 

 When was the first step taken on the Moon, by whom and in which spacecraft? 

vFkokvFkokvFkokvFkok @@@@OR 

 ijkJO; rjaxs ,oa  voJO; rjaxs fdls dg rs gSa\ 

 What are called ultrasonic waves and infra sonic waves? 

iz-9 vfn’k ,oa lfn’k jkf’k dh ifjHkk"kk fyf[k, o izR;sd dk ,d&,d mnkgj.k nhft,A ¼3¼3¼3¼3 ½½½½ 

 Write definition of scalar and vector quantity and give one example of each. 

vFkokvFkokvFkokvFkok @@@@OR 

 fl) dfj, fd v = u + at  

 Prove that v = u + at 

iz-10 ,Ydsu] ,Ydhu o ,ydkbu ltkrh; Js.kh ds lkekU; lw= fyf[k,A ¼3¼3¼3¼3 ½½½½ 

 Write down the general formulae of Alkane, Alkene and Alkyne homologous series. 

vFkokvFkokvFkokvFkok @@@@OR 

 [kk| tky fdls dgrs gSa\ bls vkjs[k :i esa cukb,A  

 What is called Food-Web? Make it in a form of line diagram. 

 

iz-11 fojatd pw.kZ cukus dh fof/k dk dsoy jklk;fud lehdj.k fyf[k, o blds nks mi;ksx 

fyf[k,A        ¼3½¼3½¼3½¼3½ 

 Write  down the chemical equation of preparatory method of bleaching powder and write its 

two uses.  

vFkokvFkokvFkokvFkok @@@@OR 

 vkst+ksu ijr ds {kj.k ds rhu izHkko fyf[k,A  

 Write any three effects of depletion of ozone layer. 

iz-12 jDr ds dksbZ rhu dk;Z fyf[k,A  ¼3¼3¼3¼3 ½½½½ 

 Write any three functions of blood. 

vFkokvFkokvFkokvFkok @@@@OR 

 euq"; esa fyax fu/kkZj.k js[kk fp= dh lgk;rk ls n’kkZb,A  

 With the help of a line diagram show the sex-determination in human being. 



[212]          Page 7 of 8                                                    

iz-13 lgla;ksth ;kSfxdksa ds dksbZ pkj vfHkyk{kf.kd xq.k/keZ fyf[k,A ¼4¼4¼4¼4 ½½½½ 
 Write any four characteristics features of covalent compounds. 

vFkokvFkokvFkokvFkok @@@@OR 

 fuEufyf[kr iz’uksa ds mÙkj nhft,& 
 (i) ,uksM fdj.kksa dks dSuky fdj.ksa D;ksa dgrs gSa\  

 (ii) leLFkkfud fdls dgrs gaS \ 

 Answer the following questions- 
 (i) Why are anode rays called canal rays? 

 (ii) What is called isotopes? 

iz-14 jsy dh iVfj;ksa ds chp esa fjDr LFkku N ksM+k tkrk gSA D;ksa\ ¼4¼4¼4¼4 ½½½½ 

 There is space between railway tracks. Why? 

vFkokvFkokvFkokvFkok @@@@OR 

 ljy lw{en’khZ D;k gS\ ljy lw{en’khZ }kjk izfrfcEc dk cuuk le> kb,A  

 What is simple microscope? Explain image formation by simple microscope. 

iz-15 ikfjra= ls vki D;k le> rs gSa\ tSfod ?kVd le> kb,A  ¼4¼4¼4¼4 ½½½½ 

 What do you understand by Ecosystem? Explain biotic components. 

vFkokvFkokvFkokvFkok @@@@OR 

 xzsQkbV ds dksbZ pkj mi;ksx fyf[k,A  

 Write any four uses of graphite. 

iz-16 ekuo mRltZu ra= dk LoPN o ukekafdr fp= cukb,A  ¼4¼4¼4¼4 ½½½½ 

 Draw a neat and labelled diagram of human excretory system. 

vFkokvFkokvFkokvFkok @@@@OR 

 eknk tuu ra= dk LoPN ukekafdr fp= cukb,A  

 Draw a neat, labelled diagram of female reproductive system. 

iz-17 ,d mÙke i’kq vkokl dSlk gksuk pkfg,\ dksbZ pkj fcanq fyf[k,A ¼4¼4¼4¼4 ½½½½ 

 How should a perfect animal housing be? Write any four points. 

vFkokvFkokvFkokvFkok @@@@OR 

 Qly pØ ds pkj ykHk fyf[k,A  

 Write four advantages of crop-rotation. 
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iz-18 ,d ,slh ;fqä ;k midj.k crkb, tks ifjofrZr djrh gks&  ¼5¼5¼5¼5 ½½½½ 

 (i) fo| qr ÅtkZ dks ;kaf=d ÅtkZ esa 

 (ii) ;kaf=d ÅtkZ dks fo| qr ÅtkZ esa 

 (iii) mPp oksYVrk dks fuEu oksYVrk esa  

 (iv) fuEu oksYVrk dks mPp oksYVrk esa 

 (v) fo| qr ÅtkZ dks izdk’k ÅtkZ esa 

 Name the device which converts- 

 (i) Electrical energy into mechanical energy 

 (ii) Mechanical energy into electrical energy 

 (iii) High alternating voltage into low alternating voltage 

 (iv) Low alternating voltage into high alternating voltage 

 (v) Electrical energy into light energy 

vFkokvFkokvFkokvFkok @@@@OR 

 dk;Z] 'kfä ,oa ÅtkZ dh ifjHkk"kk] ek=d lfgr fyf[k,A vfn’k ;k lfn’k Hkh fyf[k,A  

 Write down the definition of work, power and energy, with units. Write scalar or vector also. 

iz-19 laØked jksxksa ds jksdFkke ds dksbZ ik¡p mik; fyf[k,A  ¼5¼5¼5¼5 ½½½½ 

 Write any five measures to prevent infectious diseases. 

vFkokvFkokvFkokvFkok @@@@OR 

 izkFkfed mipkj@fpfdRlk fdls dgrs gSa\ jDr óko vkSj ewPN kZ dh fLFkfr esa vki ejht dks 

D;k izkFkfed fpfdRlk nsxsa\   

 What is called first aid? What first aid will you give to the patient in the condition of Bleeding 

and Fainting? 

iz-20 izR;sd laosnh vax dk ,d&,d dk;Z fyf[k,A  ¼5¼5¼5¼5 ½½½½ 
 Write one function of each sensory organ. 

vFkokvFkokvFkokvFkok @@@@OR 

 iks"k.k fdls dgrs gSa\ tarqvksa esa iks"k.k ds izdkj fyf[k,A gesa iks"k.k dh vko’;drk D;ksa gksrh  
gS\  

 What is called nutrition? Write types of nutrition in animals. Why do we need nutrition? 

 

---------------------------------------    
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fo"k; %fo"k; %fo"k; %fo"k; % lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    

Subject : SOCIAL SCIENCE 

le; % 03 ?k.Vs  iw.kkZ±d % 100 
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funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

    1111----    lHkh iz’u vfuok;ZlHkh iz’u vfuok;ZlHkh iz’u vfuok;ZlHkh iz’u vfuok;Z    gSgSgSgSaa aaAAAA    

    2222----    iz’u i= iz’u i= iz’u i= iz’u i=     nks [k.Mksa esa foHknks [k.Mksa esa foHknks [k.Mksa esa foHknks [k.Mksa esa foHkkkkkftr gS v vkSj cftr gS v vkSj cftr gS v vkSj cftr gS v vkSj cAAAA    

    3333----    [k.M v esa fn;s x, iz’u Ø[k.M v esa fn;s x, iz’u Ø[k.M v esa fn;s x, iz’u Ø[k.M v esa fn;s x, iz’u Øekekekekaa aad 1 ls 5 rd oLrqfu"B ,oa vfuok;Z gSd 1 ls 5 rd oLrqfu"B ,oa vfuok;Z gSd 1 ls 5 rd oLrqfu"B ,oa vfuok;Z gSd 1 ls 5 rd oLrqfu"B ,oa vfuok;Z gSaa aaA izR;sd iz’u 5 A izR;sd iz’u 5 A izR;sd iz’u 5 A izR;sd iz’u 5     

        vad dk gSA dqy vad 5vad dk gSA dqy vad 5vad dk gSA dqy vad 5vad dk gSA dqy vad 5    ××××    5 5 5 5 =    25 gS25 gS25 gS25 gSaa aaAAAA    

    4444----    [k.M c esa iz’u Ø[k.M c esa iz’u Ø[k.M c esa iz’u Ø[k.M c esa iz’u Øekekekekaa aad 6 ls 26 esa vkUrfjd fodYi fn;s x;s gSd 6 ls 26 esa vkUrfjd fodYi fn;s x;s gSd 6 ls 26 esa vkUrfjd fodYi fn;s x;s gSd 6 ls 26 esa vkUrfjd fodYi fn;s x;s gSaa aaAAAA    

    5555----    iz’u Øaiz’u Øaiz’u Øaiz’u Øaekd 22 dk mÙkj fn;s x;s funsZ’kkuqlekd 22 dk mÙkj fn;s x;s funsZ’kkuqlekd 22 dk mÙkj fn;s x;s funsZ’kkuqlekd 22 dk mÙkj fn;s x;s funsZ’kkuqlkj Hkkjr ds ekufp= eas n’kkZb,kj Hkkjr ds ekufp= eas n’kkZb,kj Hkkjr ds ekufp= eas n’kkZb,kj Hkkjr ds ekufp= eas n’kkZb,A ekufp= A ekufp= A ekufp= A ekufp=     

        dks viuh mÙkj & iqfLrdk ds lkFk layXu djsdks viuh mÙkj & iqfLrdk ds lkFk layXu djsdks viuh mÙkj & iqfLrdk ds lkFk layXu djsdks viuh mÙkj & iqfLrdk ds lkFk layXu djsaa aaAAAA        

    6666----    izR;sd iz’u ds fy;s vkaofVr vad mlds lEeq[k vafdizR;sd iz’u ds fy;s vkaofVr vad mlds lEeq[k vafdizR;sd iz’u ds fy;s vkaofVr vad mlds lEeq[k vafdizR;sd iz’u ds fy;s vkaofVr vad mlds lEeq[k vafdr gSr gSr gSr gSaa aaAAAA    

Note:-  

 1. All questions are compulsory. 

 2.  There are two sections, Section A and section B in the question paper. 

 3. Q. No 1 to 5 are objective type questions and compulsory given in section  

  A. Each question has 5 marks. Total marks 5 ×××× 5 = 25. Write answer of these  

  questions on first page of your answer book. 

 4. Internal options are given in Q. Nos. 6 to 26 of section B 

 5. Q. No 22 indicate on the outline map of India as directed. Attach the map  

  with your answer book. 

 6. Marks allotted to each question are mentioned against the question.     
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[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION - A 

iz-1 fjDr LFkkuksa dh iwfrZ dhft, %&  ¼5½¼5½¼5½¼5½  

 Fill in the blanks:– 

 ¼1½ flU/kq ljLorh --------------------------------- ds lkFk fons’kh O;kikj djrs FksA  

  The Harappan people had overseas trade with …………………. . 

 ¼2½ oSfnd ;qx esa vk;Z lekt esa fL=;kas dk ----------------------------- fd;k tkrk FkkA 

  During vedic age, women were. ……………….in Arya Samaj. 

 ¼3½ ioZrksa ds vkj & ikj tkus okys izkÑfrd ekxZ dks ----------------------------- dgrs gaSA 

  The natural passages for crossing over the mountains are called ………………… . 

 ¼4½ iksaxy rfeyukMw esa ----------------------------------- _rq esa euk;k tkrk gSA 

  Pongal in Tamil Nadu is celebrated in …………………….. season. 

 ¼5½ lalkj esa phuh ds mIrknu esa Hkkjr dk -------------------------- LFkku gSA 

  India ranks ………………….. in the production of sugar in the world. 

iz-2 lgh tksM+h cukb;s %&         ¼5½¼5½¼5½¼5½ 

   A        B 

 ¼1½ ty;ku fuekZ.k   (i) mÙkjkapy 

 ¼2½ caxky foHkktu   (ii) oLrq fofue; 

 ¼3½ uhyh ØkfUr    (iii)  1905 

 ¼4½ fte dkcsZV    (iv)  eNyh 

 ¼5½ oLrqvksa dk vknku iznku (v)  fo’kk[kkiêue 

 Match the two columns correctly:– 

   A          B 

 (1) Ship building   (i) Uttaranchal 

 (2) Bengal partition   (ii) Barter System of Exchange 

 (3) Blue revolution   (iii) 1905 

 (4) Jim Corbett    (iv) Fish 

 (5) Exchange of goods  (v) Vishakhapatnam 
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iz-3 ,d 'kCn esa mÙkj fyf[k;s %& ¼5½¼5½¼5½¼5½    

 Answer in one word:– 

 (i) ,d Hkkjrh; ukxkfjd ds ekSfyd vf/kdkj fdrus gksrs gSa\ 

  How many Fundamental Rights are given to an Indian citizen? 

 (ii) jkT; dh dk;Zikfydk dk iz/kku dkSu gksrk gS\ 

  Who is actual head of the executive of the state? 

 (iii) tula[;k dh n`f"V ls Hkkjr dk fo’o esa dkSulk LFkku gS\ 

  Which is the place of India in the world with respect to population? 

 (iv) vFkZO;oLFkk ds fdl {ks= dks vkS|ksfxd {ks= ds uke ls tkuk tkrk gS\ 

  Which sector of economy is known as industrial sector?  

 (v) Hkkjr esa i'kqvksa ij vk/kkfjr nks m|ksx dkSu ls gaS\ 

  What are the two industries based on animals in India? 

iz-4 lgh fodYi pqudj fyf[k;s %& ¼5½¼5½¼5½¼5½    

 Choose the correct option:– 

 ¼1½ nwjchu dk fodkl fdlus fd;k\ 

  (i) dSiyj    (ii) xSfyfy;ks 

  (iii) U;wVu     (iv) gkosZ 

  Who developed the first telescope? 

  (i) Kepler    (ii) Galileo 

  (iii) Newton    (iv) Harvey 

 ¼2½ vkS|ksfxd ØkfUr dk vkjEHk dgk¡ gqvk\ 

  (i) Ýkal     (ii) #l 

  (iii) bXySa.M    (iv) teZuh 

  Where did the Industrial revolution begin? 

  (i) France    (ii) Russia 

  (ii) England    (iv) Germany 
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 ¼3½ ikjlh;ksa dh /kkfeZd iqLrd dks ---------------------dgrs gSa\ 

  (i) dqjku     (ii) ckbfcy 

  (iii) vosLrk&,&tsUn   (iv) jkek;.k 

  Parsees religious book is called- 

  (i) Quran    (ii) Bible 

  (iii) Avesta-e-zead   (iv) Ramayan 

 ¼4½ vk;Z lekt ds laLFkkid %& 

  (i) jktk jke eksgu jk;  (ii) Lokeh n;kuan ljLorh 

  (iii) T;ksfrck Qwys   (iv) egknso xksfoUn jkukMs 

  The founder of Arya Samaj:– 

  (i) Raja Ram Mohan Rai  (ii) Swami Dayanand Saraswati 

  (iii) Jyotiba Fule   (iv) Mahadev Govind Ranada 

 ¼5½ ehj tkQj dgk¡ dk uokc Fkk\ 

  (i) eSlwj     (ii) iatkc 

  (iii) caxky     (iv) cjkd 

  Mir jafar was the Nawab of:–  

  (i) Mysore     (ii) Punjab 

  (iii) Bengal    (iv) Berak 

iz-5 lR;@vlR; fyf[k;s %& ¼5½¼5½¼5½¼5½    

 State True or False:– 

 (i) iapk;r dk dk;Zdky lkr o"kZ dk gksrk gSA 

  The tenure of Panchayat is seven years. 

 (ii) tula[;k foLQksV ls lalk/kukas dh deh gks tkrh gSA 

  Population explosion results in shortage of resources. 

 (iii) vaxzst Hkkjr esa i;ZVd ds #i esa vk;s FksA 

  The Britishers came  to India as travellers. 

 (iv) lS;n vgen [kku us efgykvksa dh f’k{kk dk fojks/k fd;k FkkA 

  Sayyad Ahmad Khan was opposed to the education of women. 

 (v) e`nk ,d ltho inkFkZ gSA 

  Soil is a living material.  
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[k.M & c[k.M & c[k.M & c[k.M & c    

SECTION - B 

iz-6 euq"; us lcls igys fdl /kkrq dk iz;ksx fd;k\ ¼2½¼2½¼2½¼2½    
 Which was the first metal used by human beings? 

vFkokvFkokvFkokvFkok@@@@OR  

 ;wuku ds nks izeq[k uxj&jkT;ksa ds uke fyf[k;saA 
 Write the names of two important city states in Greece. 

iz-7 fdl ns’kkUrj js[kk dks Hkkjr dh ekud e/;kgu js[kk pquk x;k gS\ ¼2½¼2½¼2½¼2½    
 Which longitude has been selected as the standard meridian of India? 

vFkokvFkokvFkokvFkok@@@@OR  

 izk;}hih; iBkj dks fdu nks Hkkxksa esa ck¡Vk x;k gS\ 
 Which two parts has the peninsular plateau been divided into?  

iz-8 dwdk vkUnksyu dh LFkkiuk fdlus dh Fkh\ ¼2½¼2½¼2½¼2½    
 By whom was the Kuka Movement originally founded?   

vFkokvFkokvFkokvFkok@@@@OR  

 “kjrh; jk"Vªh; dk¡xzsl dh dc vkSj dgk¡ LFkkiuk gqbZ\ 
 When and where was the Indian National congress founded? 

iz-9 eaf=ifj"kn dh fu;qfDr dkSu djrk gS\ ¼2½¼2½¼2½¼2½    
 Who appoints the council of ministers? 

vFkokvFkokvFkokvFkok@@@@OR  

 eaf=ifj"kn~ ds fu.kZ;ksa ds ckjs esa jk"Vªifr dks dkSu tkudkjh nsrk gS\ 
 By whom are the decisions of the council of ministers communicated to the President?   

iz-10 jkse lkezkT; dc vkSj D;ksa foHkkftr gqvk\ ¼2½¼2½¼2½¼2½    
 When was the Roman Empire divided and why? 

vFkokvFkokvFkokvFkok@@@@OR  

 e/;dkyhu Hkkjrh; vFkZO;oLFkk dh nks fo’ks"krk;sa fyf[k;s 
 Write any two characteristics of medieval Indian economy. 

iz-11 iznw"k.k ds ekuo thou ij rhu izHkko fyf[k;sA ¼3½¼3½¼3½¼3½    
 Write three effects of pollution on human life. 

vFkokvFkokvFkokvFkok@@@@OR  

 ikfjfLFkfrdh ra= D;k gS\ 
 What is ecosystem? 
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iz-12 m".k dfVcU/kh; lnkcgkj ouLifr dh rhu fo’ks"krk;sa fyf[k;sA ¼3¼3¼3¼3½½½½    

 Write three characteristics of tropical evergreen forests. 

vvvvFkokFkokFkokFkok@@@@OR  

 gfjrØkfUr dh rhu fo’ks"krk;sa fyf[k;sA 

 Write three characteristics of Green revolution. 

iz-13 vaxzsth dks ljdkjh Hkk"kk dc cuk;k x;k\ ¼3¼3¼3¼3½½½½    

 When was English made the official language? 

vFkokvFkokvFkokvFkok@@@@OR  

 dc vkSj fdlds }kjk caxky foHkktu fd;k x;k\ 

 When and by whom was Bengal partitioned? 

iz-14 vPNs ukxfjd ds rhu xq.k fyf[k;sA ¼3¼3¼3¼3½½½½    

 Write any three qualities of good citizen. 

vFkokvFkokvFkokvFkok@@@@OR  

 lkekurk dk vf/kdkj D;k gS\ 

 What is right to equality? 

iz-15 lkezkT;okn ds pkj izHkko fyf[k;sA ¼4¼4¼4¼4½½½½    

 Write four effects of Imperialism. 

vFkokvFkokvFkokvFkok@@@@OR  

 jk"Vªla?k dh LFkkiuk ds pkj mís’; fyf[k;sA 

 Write four aims of formation of League of Nations. 

iz-16 iwohZ rVh; eSnku ,oa if’peh rVh; eSnku esa pkj vUrj fyf[k;sA  ¼4¼4¼4¼4½½½½    

 Write four differences between eastern and western coastal plains. 

vFkokvFkokvFkokvFkok@@@@OR  

 xzh"e _rq dh pkj fo’ks"krk;sa fyf[k;sA 

 Write four characteristics of Summer Season.  

iz-17 “kjr dh tula[;k ds ?kuRo dks izHkkfor djus okys pkj dkjd fyf[k;sA ¼¼¼¼4444½½½½    

 Write four factors affecting density of population in India.  

vFkokvFkokvFkokvFkok@@@@OR  

 tux.kuk vfHk;ku D;k gS\ 

 What is a census operation? 
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iz-18 Lons’kh rFkk cfg"dkj dk D;k vFkZ gS\ ¼¼¼¼4444½½½½    

 What do swadeshi and Boycoti mean? 

vFkokvFkokvFkokvFkok@@@@OR  

 gkse #y vkanksyu dk eq[; mís’; fyf[k;sA 

 Write main aims of Home Rule Movement. 

iz-19 lalnh; 'kklu iz.kkyh dh pkj fo’ks"krk;sa fyf[k;sA ¼¼¼¼4444½½½½    

 Write four characteristics parliamentary form of government. 

vFkokvFkokvFkokvFkok@@@@OR  

 lafo/kku D;k gS\ 

 What is constitution? 

iz-20 pquko D;k gS\   ¼4¼4¼4¼4½½½½    

 What is election? 

vFkokvFkokvFkokvFkok@@@@OR  

 iz/kkuea=h ds pkj dk;Z fyf[k;sA 

 Write four functions of Prime Minister. 

iz-21 tyiznw"k.k ds pkj dkj.k fyf[k;sA ¼4¼4¼4¼4½½½½    

 Write four causes of water pollution. 

vFkokvFkokvFkokvFkok@@@@OR  

 ekuo lalk/ku D;k gS\ 

 What is Human Resource? 

iz-22 xqIrdky dh ik¡p fo’ks"krk;sa fyf[k;sA ¼5½¼5½¼5½¼5½    

 Write five characteristics of Gupta Age. 

vFkokvFkokvFkokvFkok@@@@OR  

 vesfjdh ØkfUr D;k Fkh\ 

 What was American Revolution? 

iz-23 e`nk vijnu dks jksdus ds ik¡p mik; fyf[k;sA ¼5¼5¼5¼5½½½½    

 Write five measures for Prevention of Soil erosion. 

vFkokvFkokvFkokvFkok@@@@OR  

 pkoy mRiknu ds fy;s vko’;d HkkSxksfyd n’kk,a fyf[k;sA 

 What are the geographical requirement for the rice production? 
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iz-24 'kgjh o xzkeh.k lkekftd lajpuk esa ik¡p vUrj fyf[k;sA ¼5½¼5½¼5½¼5½    

 Write five differences between rural and urban social structure. 

vFkokvFkokvFkokvFkok@@@@OR  

 “kjr ds u`R; ds fofHké #i dkSu&dkSu ls gSa\ 

 Name some different dance forms in India. 

iz-25 fn;s x;s Hkkjr ds ekufp= esa fuEufyf[kr n’kkZb;s %& ¼5½¼5½¼5½¼5½ 

 (i) ddZ js[kk    (ii) fMXcksbZ 

 (iii) ckEcs gkbZ    (iv) fxj jk"Vªh; m|ku 

 (v) NksVk ukxiqj dk iBkj 

 Show the following in the outline map of India:– 

 (i) Tropic of cancer   (ii) Digboi 

 (iii) Bombay high   (iv) Gir national park 

 (v) Chota Nagpur 

vFkokvFkokvFkokvFkok@@@@OR  

 (i) caxky dh [kkM+h   (ii) e#LFkyh; feêh 

 (iii) dkathjaxk    (iv) xsgwa mRiknd {ks= 

 (v) fo’kk[kkiêue 

 (i) Bay of Bengal   (ii) Desert soil 

 (iii) Kaziranga National park (iv) Wheat producing area 

 (v) Vishakhapatnam. 

iz-26 dk;Zikfydk ij laln dSls fu;U=.k j[krh gS\ ¼5½¼5½¼5½¼5½    

 How parliament keeps control over executive?  

vFkokvFkokvFkokvFkok@@@@OR  

 yksdlHkk lnL; cuus ds fy;s vko’;d ;ksX;rk fyf[k;sA 

 What are the qualifications required to be Member of Lok Sabha? 

--------------------------------------- 
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214 
fo"k; %fo"k; %fo"k; %fo"k; % vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=    

Subject : ECONOMICS   

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&            

        ¼1½¼1½¼1½¼1½    lHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z gSaASaASaASaA    

        ¼2½¼2½¼2½¼2½    05 ¼5 05 ¼5 05 ¼5 05 ¼5 ××××    5 5 5 5 = 25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA    
        ¼3½¼3½¼3½¼3½    iz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSaa aa    %&%&%&%&    
            ¼1½¼1½¼1½¼1½    oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 ××××    5 5 5 5 = 25½25½25½25½        25 vad25 vad25 vad25 vad    
            ¼2½¼2½¼2½¼2½    iz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rd            ¼6¼6¼6¼6××××2 2 2 2 =12½ 02 vad12½ 02 vad12½ 02 vad12½ 02 vad                    
                'kCn lhek 20 'kCn'kCn lhek 20 'kCn'kCn lhek 20 'kCn'kCn lhek 20 'kCn                        
            ¼3½¼3½¼3½¼3½    iz’u Øekad 12 ls iz’u Øekad 12 ls iz’u Øekad 12 ls iz’u Øekad 12 ls 16 rd16 rd16 rd16 rd            ¼5¼5¼5¼5××××3 3 3 3 =15½ 03 vad15½ 03 vad15½ 03 vad15½ 03 vad    
                'kCn lhek 30 'kCn'kCn lhek 30 'kCn'kCn lhek 30 'kCn'kCn lhek 30 'kCn    
            ¼4½¼4½¼4½¼4½    iziziziz’u Øekad 17 ls 20’u Øekad 17 ls 20’u Øekad 17 ls 20’u Øekad 17 ls 20    rdrdrdrd            ¼4¼4¼4¼4××××4 4 4 4 =16½ 04 vad16½ 04 vad16½ 04 vad16½ 04 vad    
                'kCn lhek 4'kCn lhek 4'kCn lhek 4'kCn lhek 40 'kCn0 'kCn0 'kCn0 'kCn    
            ¼5½¼5½¼5½¼5½    iz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rd            ¼4¼4¼4¼4××××5 5 5 5 =20½ 05 vad20½ 05 vad20½ 05 vad20½ 05 vad    
                'kCn lhek 70 'kCn'kCn lhek 70 'kCn'kCn lhek 70 'kCn'kCn lhek 70 'kCn    
            ¼6½¼6½¼6½¼6½    iz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rd            ¼6¼6¼6¼6××××2 2 2 2 =12½ 06 vad12½ 06 vad12½ 06 vad12½ 06 vad    
                'kCn lhek 100 'kCn lhek 100 'kCn lhek 100 'kCn lhek 100 'kCn'kCn'kCn'kCn    
INSTRUCTIONS: - (1)  All questions are Compulsory. 

  (2)  05 (5 ×××× 5 = 25) questions are objective types. 

  (3) Marks allotted of each question and limits of words:– 

   (1) Objective types Questions 05 (5 ×××× 5 = 25) 25 Marks 

   (2) Question No. 06 to 11    02 Marks (Each question)
 Words Limit : 20 Words. 

   (3) Question No. 12 to 16    03 Marks (Each question)
 Words Limit : 30 Words. 

   (4) Question No. 17 to 20    04 Marks (Each question)
 Words Limit : 40 Words. 

   (5) Question No. 21 to 24    05 Marks (Each question)
 Words Limit : 70 Words. 

   (6) Question No. 25 to 26    06 Marks (Each question)
 Words Limit : 100 Words. 
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                oLrqoLrqoLrqoLrqfu"B iz’u fu"B iz’u fu"B iz’u fu"B iz’u %&%&%&%&                                                                                                        ¼5¼5¼5¼5××××5 5 5 5 =25½25½25½25½    

     Objective Question :–  

iz-1 [kkyh LFkku Hkjks %&   ¼5½¼5½¼5½¼5½  
 Fill in the blanks:– 

 (A) fdlh Hkh vko’;drk dh larqf"V ds fy;s ,d ls vf/kd oLrqvksa dk iz;ksx djuk iM+rk  

 gSA blhfy;s ge dg ldrs gSa] fd vko’;rk;sa ijLij -------------------------------------------------------------- 

gSaA ¼fuHkZj@vlacaf/kr½  
  Satisfaction of a want requires use of more than one good, so we can say that wants are    

  ………………….. …………………………………………….(Interdependent/ unrelated) 

 (B) gekjh vko’;drkvkas dh larqf"V ds fy;s --------------------------------- oLrq;sa vkSj lsok;sa lqyHk gSaA  

  ¼dbZ@ ,d Hkh ugha½  
  There are good and services that are required to satisfy our want. (many/ none) 

 (C) forj.k oLrqvksa vkSj lsokvksa ds --------------------------------------------- ds ek/;e ls lEié gksrk gSA 

¼Ø; & foØ;@oLrq;sa½  
 Distribution is resulted through ….………………………………………...of goods  

(purchase - sales/ Goods and Services) 

 (D) mRikndksa vkSj miHkksDrkvksa ds chp laidZ ----------------------------------------- }kjk LFkkfir gksrk gSA 

¼forj.k@fofue;½  
Producers and Consumers are linked through…………………………………….. 

(Distribution / Exchange) 

 (E) Ø; vkSj foØ; ------------------------------ eas gksrk gSA ¼cktkj@ dk;kZy;½  
  Buying and selling takes place in a ………………… (Market / office). 

iz-2 lR;@vlR; fy[kks %&  ¼5½¼5½¼5½¼5½    
 Write True / False:– 

 (A) fu;fU=r cktkj esa ljdkj oLrq dh mRiknu ykxr fuf’pr djrh gSA  
  In a controlled market, the government fixes the cost of production of goods. 

 (B) fu;af=r cktkj esa dsoy ljdkj gh foØsrk gksrh gSA 
  Controlled market is a market in which government is the only seller.  

 (C) mRiknu] mi;ksx vkSj fuos’k vkfFkZd xfrfof/k;k¡ ugha gSaA 
  Production, consumption and investment are not economic activities.  

 (D) vf/kd mRiknu ls miHkksx vkSj fuos’k esa o`f) gksrh gSA 
  More production results in more consumption and more investment.  

 (E) “kjr tula[;k dh n`f"V ls fo’o dk nwljk fo’kkyre ns’k gSA 
  India is world’s second largest populated country. 
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iz-3 lgh fodYi pqudj fyf[k, %& ¼5½¼5½¼5½¼5½    
 Select the correct answer of the following:– 

 (A) “kjrh; vFkZO;oLFkk esa gS %& 

  (1) cpr dh mPp nj   (2) csjkstxkjh dh fuEu nj 

  (3) tula[;k o`f) dh mPp nj  (4) mijksDr esa ls dksbZ ugha  
  Indian Economy has –  

  (1) High savings rate    (2) Low rate of unemployment 

  (3) Growth of Population   (4) None of these 

 (B) taxyksa dk iru gksrk gS & 

  (1) “wfe ds {kj.k }kjk   (2) “wfe dh m".krk }kjk 

  (3) “wfe ds [kkjkiu }kjk   (4) mijksDr esa ls dksbZ ugha 
  Degradation of forests is caused by:- 

  (1) Erosion of soil    (2) Loss of moisture in soil 

  (3) Loss of bio - diversity   (4) None of these 

 (C) vkfFkZd oLrq,a os gSa %& 

  (1) tks nqyZe gksa    (2) ftudh dher gks 

  (3) nksuksa gh ckrsa Bhd gSa   (4) dksbZ ugha 
  Economic goods are:– 

  (1) Those which are scarce   

  (2) Those which have a price 

  (3) Those which are scarce and also have a Price     

  (4) None of these 

 (D) fuEu esa ls dkSu lh oLrq euq"; }kjk ugha cukbZ tkrh gS\ 

  (1) [kfut      (2) e’khuas  

  (3) “ou      (4) lwrh /kkxk 
  Which of the following is not man – made? 

  (1) Minerals     (2) Machines 

  (3) Buildings     (4) Cotton thread. 

 (E) fuEukafdr esa ls dkSu lh iw¡th ugha gS\ 

  (1) QSDVjh esa e’khu    (2) fdlku ds ikl gy 

  (3) Jfed ds ikl QkoM+k   (4) miHkksDrk ds ikl dkj 
  Which of the following is not a capital? 

  (1) A machine in a factory   (2) A plough with a farmer  

  (3) A spade with a labourer   (4) Car with a Consumer  
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iz-4 fjDr LFkku %&    ¼5½¼5½¼5½¼5½ 

 Fill in the blanks:– 

 (1) “kjr] usiky vkSj caxykns’k -------------------------------- ns’k gSaA ¼fodflr@ fodkl’khy½   

  India, Nepal, Bangladesh are…………… countries. (Developed / undeveloped) 

 (2) Je iz/kku m|ksx yksxksa dks --------------------------------- jkstxkj iznku djrs gSaA ¼de@ vf/kd½  

  Labour intensive industries provide jobs to …………….. people. (Less/ more) 

 (3) Ñf"k ds {ks= esa ----------------------------- o`f) ls csjkstxkjh esa deh vk;sxhA ¼/kheh & rhoz½  

  ………………… growth of agriculture sector would decrease unemployment . 

 (4) ifjokjksa o QeksZa dh cprsa feydj ----------------------------------- cprksa dh jpuk djrh gSaA  

  ¼lkoZtfud@O;fDrxr½  

  Saving of the household and of the firms together constitute the ………………….. 

  savings. (Personal / Public) 

 (5) Ø; vkSj foØ; ------------------------------ eas gksrk gSA ¼lsokvksa @cktkj½  

  Buying & selling takes place in a ……………… (Service/ Market) 

iz-5 lR;@vlR; fyf[k, %& ¼5½¼5½¼5½¼5½    

 Which of the following statements are True or False? 

 (1) iwathoknh vFkZO;oLFkk ij ljdkj dk iw.kZ fu;U=.k gksrk gSA  

  Government has full control in capitalist economy. 

 (2) ,d fefJr vFkZO;oLFkk esa futh vkSj lkoZtfud {ks=ksa dk lg vfLrRo jgrk gSA 

  In mixed economy public and private sectors coexist. 

 (3) 
tula[; 

  ; vk; jk"
  vk; Dr O;izfr =  

  
Population

Income National
   income capital Per =  

 (4) “kjr eas c<+rh gqbZ tula[;k nj dk dkj.k mPp tUenj gh gSA 

  In India high rate of population growth is due to high birth rate. 

 (5) xSV dk vFkZ vk;kr fu;kZr djksa rFkk O;kikj ij lkekU; le>kSrk gSA 

  GATT stands for the General Agreement on Tariffs and Trades. 

   Vªh

k
f
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iz-6 vko’;drk ,oa bPNk esa nks Hksn crkb;sA ¼2½¼2½¼2½¼2½    

 Distinguish between want and desire. (any two) 

vFkokvFkokvFkokvFkok@@@@OR 

 vko’;drk;sa vlhfer fdl izdkj gks tkrh gSa\ 

 How do wants become unlimited? 

iz-7 mRiknu dk vFkZ crkvks\ ¼2½¼2½¼2½¼2½    

 What is the meaning of Production? 

vFkokvFkokvFkokvFkok@@@@OR 

 cMs vkSj y?kq m|ksxksa esa Hksn crkvksA ¼dksbZ nks½ 

 Differentiate between large – scale and small – scale Industries. 

iz-8 Fkksd foØsrk ,oa QqVdj foØsrk esa nks vUrj fy[kksA ¼2½¼2½¼2½¼2½    

 Write any two differences between Wholesalers & Retailers. 

vFkokvFkokvFkokvFkok@@@@OR 

 {ks= ds vk/kkj ij cktkj ds nks izdkj crkvksA 

 Explain any two types of Markets on the basis of the area. 

iz-9 vkfFkZd fodkl ds izeq[k fu/kkZjd D;k gksrs gaS\ ¼dksbZ nks½ ¼2½¼2½¼2½¼2½    

 What are the main determinants of economic development? (any two) 

vFkokvFkokvFkokvFkok@@@@OR  

 vFkZO;oLFkk dh dsUæh; leL;kvksa dks fy[kksA ¼dksbZ nks½  

 Write any two central problems of an economy. 

iz-10 iznw"k.k ds dksbZ nks izdkj fy[kksA ¼2½¼2½¼2½¼2½    

 Write any two types of pollution. 

vFkokvFkokvFkokvFkok@@@@OR  

 lalk/ku D;k gSa\ le>kvksA 

 Explain what are Resources? 

iz-11 ches ds dksbZ nks egRo le>kvks\ ¼2¼2¼2¼2½½½½    

 Explain the any two importance of Insurance. 

vFkokvFkokvFkokvFkok@@@@OR  

 futh lEifÙk D;k gS\ 

 What is the private property? 
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iz-12 oLrqvksa ,oa lsokvksa esa Hksn fy[kksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Distinguish between goods and services. (any three difference) 

vFkokvFkokvFkokvFkok@@@@OR  

 Je dh dksbZ rhu fo’ks"krk,a fy[kksA 

 Write any three characteristics of Labour. 

iz-13 “kjrh; vFkkZO;oLFkk ij oS’ohdj.k ds izHkko fy[kksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Write any three effects of Globalisation on Indian Economy.  

vFkokvFkokvFkokvFkok@@@@OR  

 oLrqvksa ds forj.k ij dher dk izHkko dSls iM+rk gS\ 

 How price effects distribution of goods? 

iz-14 mRiknd vkSj vuqRiknd cpr esa Hksn Li"V djksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Distinguish between the productive and the unproductive savings. (Any three points)  

vFkokvFkokvFkokvFkok@@@@OR  

 cpr cSad [kkrk D;k gS\ 

 What is the Saving Bank Recount? 

iz-15 “kjrh; vFkZO;oLFkk dh ewyHkwr fo’ks"krk;sa D;k gSa\ ¼dksbZ rhu½ ¼3¼3¼3¼3½½½½    

 What are basic features of Indian Economy? (Any three) 

vFkokvFkokvFkokvFkok@@@@OR  

 lkoZtfud {ks= ds m|eksa dh fo’ks"krk;sa fy[kks\ ¼dksbZ rhu½ 

 Write any three characteristics of Public Sector.  

iz-16 fo’o vFkZO;oLFkk ds mís’; fy[kks\ ¼dksbZ rhu½  ¼3¼3¼3¼3½½½½    

 Write the objectives of World Economy. (Any three) 

vFkokvFkokvFkokvFkok@@@@OR  

 fo’o O;kikj ds mís’; fy[kks\ ¼dksbZ rhu½ 

 Write the objectives of World Trade. (any three)  

iz-17 vko’;drkvksa dh dksbZ pkj fo’ks"krk;sa fy[kksA ¼4½¼4½¼4½¼4½    

 Write any four characteristics of wants.  

vFkokvFkokvFkokvFkok@@@@OR  

 vko’;drkvksa ds izdkjksa dks le>kb,A 

 Explain different types of wants. 
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iz-18 mRiknu o`f) ds dkj.k fy[kksA ¼dksbZ pkj½ ¼4½¼4½¼4½¼4½    

 Write any four reasons for increasing production. 

vFkokvFkokvFkokvFkok@@@@OR  

 mRiknu ds fofHké iSekuksa dks Li"V djksA 

 Explain different scales of production unit. 

iz-19 ek¡x dk fu;e le>kb;sA ¼4½¼4½¼4½¼4½    

 Explain the Law of Demand. 

vFkokvFkokvFkokvFkok@@@@OR  

 ek¡x dh ifjHkk"kk fy[kks\ rFkk fu/kkZjd rRo crkvksA 

 Write the definition of demand? State the determinants of demand.   

iz-20 izkÑfrd lalk/kuksa ds iru ds dkj.k fy[kksA ¼4½¼4½¼4½¼4½    

 Write the reason of Degradation of Natural Resources. 

vFkokvFkokvFkokvFkok@@@@OR  

 i;kZoj.k leL;kvksa ij fu;a=.k dSls fd;k tk ldrk gS\ 

 How is the control of environment problems done? 

iz-21 mRiknu bdkbZ;ksa ds izdkj le>kb;sA ¼¼¼¼5555½½½½    

 Explain the types of production units. 

vFkokvFkokvFkokvFkok@@@@OR  

 fons’kh mRiknu bdkbZ dk oxhZdj.k Li"V djksA 

 Explain the classification of foreign production units.  

iz-22 xjhch ?kVkus o jkstxkj c<+kus ds fy;s xzkeh.k fodkl dk;ZØe Li"V djksA ¼5½¼5½¼5½¼5½    

 Explain the rural development programmes to reduce poverty and increase employment. 

vFkokvFkokvFkokvFkok@@@@OR  

 tula[;k dh rhoz o`f) Hkkjrh; vFkZO;oLFkk dks fdl izdkj izHkkfor djrh gS\ 

 How does the fast rising population affect the Indian economy? 

iz-23 vFkZO;koLFkk D;k gS\ le>kb;s o fo’ks"krk;sa fy[ksaA ¼5½¼5½¼5½¼5½    

 What is the Economy?  Write the characteristics.   

vFkokvFkokvFkokvFkok@@@@OR  

 dsUæh; leL;kvksa ds lek/kku esa dher iz.kkyh dh Hkwfedk dks le>kvksA 

 Explain the role of the Price Mechanism in solving the central problems.  
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iz-24 taxyksa dk iru D;k gS\ vkSj blds izHkko crkb;sA ¼5½¼5½¼5½¼5½    

 Explain the degradation of forests? Explain effects of degradation of forests.  

vFkokvFkokvFkokvFkok@@@@OR  

 i;kZoj.k dh /kkj.kh; {kerk dks Li"V djksA 

 Explain the carrying – capacity of the environment.   

iz-25 fo’o O;kikj laxBu ds fl)kUr o dk;ksZa dks Li"V djksA ¼6¼6¼6¼6½½½½ 

 Explain the principles & functions of World Trade Organization (WTO).  

vFkokvFkokvFkokvFkok@@@@OR  

 fodkl dks izHkkfor djus okys dkjdksa dks Li"V djksA 

 Explain the factors affecting development. 

iz-26 fodkl’khy ns’kksa dh fo’ks"krk;sa fy[kks ¼dksbZ N%½ ¼6¼6¼6¼6½½½½    

 Write any six characteristics of developing countries. 

vFkokvFkokvFkokvFkok@@@@OR  

 ekuo fodkl lwpdkad dk oxhZdj.k djksA  

 Classification of Human Development Index  

 

---------------------------------------------- 
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215 

fo"k; %fo"k; %fo"k; %fo"k; % O;kolk; v/;;uO;kolk; v/;;uO;kolk; v/;;uO;kolk; v/;;u    
Subject : BUSINESS STUDY 

le; % 03 ?k.Vs  iw.kk±d % 100 
Time : 03 Hours  Maximum Marks : 100 

    
funsZ’k %funsZ’k %funsZ’k %funsZ’k %        

    ¼1½¼1½¼1½¼1½    lHkhlHkhlHkhlHkh    iz’u djuk vfuokiz’u djuk vfuokiz’u djuk vfuokiz’u djuk vfuok;Z gSaA;Z gSaA;Z gSaA;Z gSaA    

    ¼¼¼¼2222½½½½    5 iz’u oLrqfu"B iz’u gSaA5 iz’u oLrqfu"B iz’u gSaA5 iz’u oLrqfu"B iz’u gSaA5 iz’u oLrqfu"B iz’u gSaA    

    ¼¼¼¼3333½½½½    iiiiz’uksa ds fu/kkZfjr vad vkSj 'kCz’uksa ds fu/kkZfjr vad vkSj 'kCz’uksa ds fu/kkZfjr vad vkSj 'kCz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gS %&n lhek bl izdkj gS %&n lhek bl izdkj gS %&n lhek bl izdkj gS %&    

    ¼¼¼¼4444½½½½    iz’u dzekad 06 ls iz’u dzekad 11 rd fu/kkZfjr vad 02 'kCn lhek 20 'kCnAiz’u dzekad 06 ls iz’u dzekad 11 rd fu/kkZfjr vad 02 'kCn lhek 20 'kCnAiz’u dzekad 06 ls iz’u dzekad 11 rd fu/kkZfjr vad 02 'kCn lhek 20 'kCnAiz’u dzekad 06 ls iz’u dzekad 11 rd fu/kkZfjr vad 02 'kCn lhek 20 'kCnA    

    ¼¼¼¼5555½½½½    iz’u dzekad 12 ls iz’u dzekadiz’u dzekad 12 ls iz’u dzekadiz’u dzekad 12 ls iz’u dzekadiz’u dzekad 12 ls iz’u dzekad    16 rd fu/kkZfjr vad 03 'kCn lhek 30 'kCnA16 rd fu/kkZfjr vad 03 'kCn lhek 30 'kCnA16 rd fu/kkZfjr vad 03 'kCn lhek 30 'kCnA16 rd fu/kkZfjr vad 03 'kCn lhek 30 'kCnA    

    ¼¼¼¼6666½½½½    iz’u dzekad 17 ls 20 rd fu/kkZfjr vad 04 'kCn lhek 40 'kCnAiz’u dzekad 17 ls 20 rd fu/kkZfjr vad 04 'kCn lhek 40 'kCnAiz’u dzekad 17 ls 20 rd fu/kkZfjr vad 04 'kCn lhek 40 'kCnAiz’u dzekad 17 ls 20 rd fu/kkZfjr vad 04 'kCn lhek 40 'kCnA    

    ¼¼¼¼7777½½½½    iz’u dzekad 21 ls 24 rd fu/kkZfjr vad 05 'kCn lhek 70 'kCnAiz’u dzekad 21 ls 24 rd fu/kkZfjr vad 05 'kCn lhek 70 'kCnAiz’u dzekad 21 ls 24 rd fu/kkZfjr vad 05 'kCn lhek 70 'kCnAiz’u dzekad 21 ls 24 rd fu/kkZfjr vad 05 'kCn lhek 70 'kCnA    

    ¼¼¼¼8888½½½½    iz’u Øekad 25 ls 26 rd fu/kkZfjr vad 06 'kCn lhek 100 'kCnAiz’u Øekad 25 ls 26 rd fu/kkZfjr vad 06 'kCn lhek 100 'kCnAiz’u Øekad 25 ls 26 rd fu/kkZfjr vad 06 'kCn lhek 100 'kCnAiz’u Øekad 25 ls 26 rd fu/kkZfjr vad 06 'kCn lhek 100 'kCnA    

Instructions:   

                   (1) All questions are Compulsory. 

 (2) 05 questions are objective types which contain fill up the blanks, True /  

 False, Match the columns, one word answer and choose the correct 

 questions.  Each question is allotted 05 marks (are 5××××5 ¾¾¾¾    25 marks)  

 (3) Marks allotted of each question and lim. of words as Indicated against 

 each questions. 

 (4) Question No. 06 to 11. 02 Marks and 20 words. 

 (5) Question No.12 to 16. 03 Marks  and 30 words. 

 (6) Question No.17 to 20. 04 Marks  and 40 words. 

 (7) Question No.21 to 24. 05 Marks and 70 words. 

 (8) Question No.25 to 26. 06 Marks and 100 words. 
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   oLrqfu"B iz’u oLrqfu"B iz’u oLrqfu"B iz’u oLrqfu"B iz’u (Objective Type Questions) 

iz-1    [kkyh LFkku Hkjks%&  ¼5½¼5½¼5½¼5½ 

 Fill in the blanks:- 

 ¼1½ -----------------------------------------------------------------------------------------O;olk; dk izeq[k vkfFkZd mn~ns’; gSA  

  ……………………….…………………………is main economic objective of  business. 

 ¼2½ O;olk; ,d -----------------------------------------------------------------------------------------------------------------------fØ;k gSA   

  Business is a ……………………………...……………………………………….activity. 

 ¼3½ eqxhZikyu] i'kqikyu ,oa xqykc dh [ksrh----------------------------------------------------------------m|ksx gaSA   

  Poultry farming, Animal Husbandry and Rose farming are…………………..Industries. 

 ¼4½ Ø; okilh cgh esa --------------------------------------------------------------------------------------ds ys[ks j[ks tkrs gaSA   

   ……………………………………………………record is kept in purchases return book. 

 ¼5½ foØ; okilh cgh esa------------------------------------------------------------------------------------ds ys[ks j[ks tkrs gSA   

   ………………………..............................……………. record is kept in sales return book. 

iz-2 lR;@vlR; fy[kks&  ¼5½¼5½¼5½¼5½ 

 ¼1½ vko’;drk;sa ges’kk vuUr gksrh gSA 

  Wants are unlimited. 

 ¼2½ ykHk tksf[ke dk iq:Ldkj gSA 

  Profit is reward for risk taking. 

 ¼3½ is’ks esa vkpkj lafgrk dh vko’;drk gksrh gSA 

  Code of conduct is essential in profession. 

 ¼4½ vkWu ykbu O;olk; djus dh fof/k dks bZ & dkelZ dgrs gSaA 

  Process of on-line business is called E-Commerce. 

 ¼5½ Hkkjr esa fefJr vkfFkZd iz.kkyh dks viuk;k x;k gSA 

  India follows the mixed economic system. 
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iz-3 lgh tksM+h cukvks&  ¼5½¼5½¼5½¼5½ 
   v       c 
    ¼1½ lk>snkjh esa lnL; la[;k    Lo;a dk LokfeRo 
  No. of partners in partnership   Personal ownership 

    ¼2½ ,dkdh O;kikj      izkFkfed m|ksx 
  Sole Trade       Primary Industry 

    ¼3½    fyf[kr lys[k         de ls de 2] vf/kdre 10 
        Written Act       minimum 2, Maximum 10 

    ¼4½ lkoZtfud {ks=      foHkkxh; laxBu 
  Public sector      Departmental organisation 

    ¼5½    fu"d"kZ.k m|ksx      dEiuh 
  Extractive Industry     Company 

iz-4 lgh fodYi pquks%&  ¼5½¼5½¼5½¼5½ 

 Select correct option:- 

 ¼1½ O;kikfjd i= dk mn~ns’;A  

  Object of the commercial letter  

  1- lEidZ esa o`f) 

   Increase in contact 

  2- [;kfr esa o`f) 

   Increase in goodwill 

  3- izfrLi/kkZ  dk lkeuk 

   To face competition 

  4- mijksDr lHkh 

   All of these 

 ¼2½ lanHkZ i= fy[ks tkrs gSa& 
  Reference letters are written for- 

  1- f’kdk;r gsrq 
   For complaint 

  2- foÙkh; fLFkfr tkuus gsrq 
   To know financial position 

  3- iwaNrk¡N ds fy;s 
   For Inquiry 

  4- vkns’k ds fy;s 
    For order 
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 ¼3½ foi.ku dk dk;Z ugha gS& 

  Not a function of marketing- 

  1- foKkiu 

   Advertising 

  2- ifjogu 

   Transportation 

  3- laxzg.k 

   Storing 

  4- vfHkizsj.kk 

   Motivation 

 ¼4½ foi.ku feJ.k dk rRo gS& 

  Factor of Marketing Mix is- 

  1- mRikn 

   Product 

  2- ewY; 

   Price 

  3- lao/kZu 

   Promotional 

  4- mijksDr lHkh 

   All of these 

 ¼5½ ewY; lwph Hksth tkrh gS& 

   Price list is sent- 

  1- iwaNrk¡N ds ckn 

   After inquiry 

  2- vkns’k ds ckn 

   After order 

  3- f’kdk;r ds ckn 

   For complaint 

  4- mijksDr esa ls ugha 

   None of these 
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iz-5 lR;@vlR; esa mÙkj nks& ¼5½¼5½¼5½¼5½ 

 Answer the following in True/False- 

 1- miHkksDrk laj{k.k }kjk miHkksDrkvksa dks laxfBr fd;k tkrk gSA 

  The Consumer’s are organised by consumer protection. 

 2- eky Ø; djrs le; jlhn ysuk vko’;d ugha gSA 

  There is no need of taking receipt at time of purchase of goods. 

 3- miHkksDrk dks vius vf/kdkjksa dk iz;ksx ugha djuk pkfg,A 

  Consumer’s  should not use their rights. 

 4- lsch (SEBI) dk iwjk uke gS] Hkkjrh; izfrHkwfr ,oa fofue; fuxeA 

  SEBI Full name is Security and Exchange Board of India. 

 5- iw.kZrk ,d vkn’kZ O;kikfjd i= dk xq.k gSA 

  Completeness is essential for an ideal Business Letter. 

iz-6 Fkksd O;kikjh ds dk;Z crkb,\ ¼dksbZ nks½ ¼2¼2¼2¼2½½½½ 

 Explain any two functions of Wholesalers. 

vFkok@vFkok@vFkok@vFkok@OR 

 O;olk; ds nks  lkekftd mís’; crkvks\ 

 Write any two social objectives of business. 

iz-7 vko’;drkvksa ds izdkj crkvksA ¼dksbZ nks½ ¼2¼2¼2¼2½½½½ 

 Write any two types of demand. 

vFkok@vFkok@vFkok@vFkok@OR 

 Tkksf[ke ds dksbZ nks izdkj crkvks\  

 Write any two types of risk. 

iz-8 ,dy LokfeRo ds nks ykHk crkvks\ ¼2¼2¼2¼2½½½½ 

 Explain any two advantages of sole trade. 

vFkok@vFkok@vFkok@vFkok@OR 

 lk>snkjh ls D;k vk’k; gS\ 

 Write the meaning of Partnership. 

iz-9 foi.ku ds rRo crkvksA  ¼2¼2¼2¼2½½½½ 

 Explain the elements of marketing. 
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vvvvFkok@Fkok@Fkok@Fkok@OR 

 O;kolkf;d i=&O;ogkj dk vFkZ le>kvksA 

 Explain the meaning of commercial letters. 

iz-10 O;kikj [kkrk ls D;k vk’k; gS\ ¼2¼2¼2¼2½½½½ 

 Explain the meaning of Trading Account. 

vFkok@vFkok@vFkok@vFkok@OR 

 i= ds nks izdkj crkvksA 

 Explain any two types of letters. 

iz-11 miHkksDrk ds vf/kdkjksa ls d;k vk’k; gS\ ¼2¼2¼2¼2½½½½ 

 Explain the meaning of rights of consumers. 

vFkok@vFkok@vFkok@vFkok@OR 

 cpr ;kstuk,a D;k gSa\ 

 What are the saving schemes? 

iz-12 vkfFkZd ,oa vukfFkZd fØ;kvksa esa vUrj crkvksA ¼3¼3¼3¼3½½½½ 

 Write the difference between economic and non economic activities. 

vFkok@vFkok@vFkok@vFkok@OR 

 ys[kkadu dk vFkZ crkvks\ vkSj [kkrksa ds izdkj crkvksA 

 Explain the meaning of accounting? Mention types of Accounts. 

iz-13 Lrj ls D;k vk’k; gS\ izdkj crkvksA ¼3¼3¼3¼3½½½½ 

 Explain the meaning of standard. Mention the types of standards. 

vFkok@vFkok@vFkok@vFkok@OR 

 m|eh ds dk;ksZa dks li"V djksA 

 Explain the function of entrepreneur. 

iz-14 foKkiu dk vk’k; ,oa mn~ns’; crkvksA ¼3¼3¼3¼3½½½½ 

 Explain the meaning of advertisement and objects of advertisement. 

vFkok@vFkok@vFkok@vFkok@OR 

 foØ; lao/kZu dk vFkZ ,oa rduhdsa crkvksA 

 Explain the meaning of sales promotion and methods of promotion. 
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iz-15 miHkksDrk laj{k.k vf/kfu;e 1986 dks le>kvksA ¼3¼3¼3¼3½½½½ 

 Explain the Consumer Protection Act 1986. 

vFkok@vFkok@vFkok@vFkok@OR 

 chek ;kstukvksa dks le>kvksA 

 Explain the Insurance plans. 

iz-16 fofue; foi= rFkk psd esa vUrj le>kvksA ¼3¼3¼3¼3½½½½ 

 Explain the difference between Bills of Exchange & Cheques. 

vFkok@vFkok@vFkok@vFkok@OR 

 lapkj lk/kukas ls vk’k; ,oa izdkj le>kb,A 

 Mention types of communication and explain the meaning of communication. 

iz-17 O;kikj dh lgk;d fØ;kvksa dks le>kvksA ¼4¼4¼4¼4½½½½ 

 Explain the Auxiliaries of trade. 

vFkok@vFkok@vFkok@vFkok@OR 

 etnwjh ds fy;s jkstxkj vkSj Lojkstxkj esa vUrj crkvksA 

 Differentiate between self employment and employment for wages.  

iz-18 ,d lQy m/keh ds xq.kksa dks fy[kksA ¼4¼4¼4¼4½½½½ 

 Write the qualities of a good Businessman. 

vFkok@vFkok@vFkok@vFkok@OR 

 tksf[ke dk vFkZ ,oa izdkj fy[kksA 

 Explain the meaning and types of risks. 

iz-19 lk>snkjh dk vFkZ ,oa fo’ks"krk;sa fy[kksA ¼4¼4¼4¼4½½½½ 

 Write the meaning of the partnership and write their characteristics. 

vFkok@vFkok@vFkok@vFkok@OR 

 lk>snkjh ds ykHk ,oa gkfu fy[kksA 

 Explain the advantages & disadvantages of partnership. 

iz-20 cM+s iSekus ij QqVdj O;kikj ds izdkj fy[kksA ¼4¼4¼4¼4½½½½ 

 Write the types of large scale retailers. 

vFkok@vFkok@vFkok@vFkok@OR 

 O;kolkf;d i= O;ogkj dk egRo fy[kksA 

 Write the importance of commercial letter communication. 
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iz-21 ykHk gkfu [kkrksa dh enksa dks fy[kksA ¼5¼5¼5¼5½½½½ 

 Write the items of Profit & Loss Accounts.  

vFkok@vFkok@vFkok@vFkok@OR 

 fLFkfr fooj.k dh enksa dks fy[kksA 
 Write the items of Balance Sheet. 

iz-22 miHkksDrk laj{k.k dkuwu 1951 dks fy[kks ;k le>kvksA ¼5¼5¼5¼5½½½½ 
 Explain or write the Industries Development and Regulation Act, 1951. 

vFkok@vFkok@vFkok@vFkok@OR 

 miHkksDrkvksa ds vf/kdkj fy[kksA 

 Write the rights of consumers. 

iz-23 O;olk; ds mn~ns’;ksa dks le>kvksA ¼5¼5¼5¼5½½½½ 

 Explain the objects of business. 

vFkok@vFkok@vFkok@vFkok@OR 

 jkstxkj dh fo’ks"krk,a fy[kksA 

 Write the characteristics of employment. 

iz-24 ,d vPNs O;kikfjd i=ksa ds xq.kksa dks fy[kksA ¼5¼5¼5¼5½½½½ 

 Write the essentials of an ideal business letter. 

vFkok@vFkok@vFkok@vFkok@OR 

 iSdsftax dk egRo crkvksA 
 Write the importance of packaging. 

iz-25 foHkkxh; Hk.Mkj ,oa cgqla[;d nqdkuksa esa vUrj fy[kksA ¼6¼6¼6¼6½½½½ 

 Write the difference between departmental stores and multiple shops. 

vFkok@vFkok@vFkok@vFkok@OR 

 lgdkjh miHkksDrk Hk.Mkj ds ykHk fy[kksA 

 Write the advantages of consumer’s co-operative stores. 

iz-26 Mkd }kjk O;kikj ds ykHk fy[kksA ¼6¼6¼6¼6½½½½ 

 Write the advantages of mail order business. 

vFkok@vFkok@vFkok@vFkok@OR 

 lqij cktkj ds nks"k fy[kksA 
 Write the disadvantage of super market.   

------------------------------- 
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dqy iz’uksa dh la[;k % 23 dqy i`"Bksa dh la[;k % 07 

Total No. of Questions : 23  Total No. of Pages : 07 

216 
fo"k;fo"k;fo"k;fo"k;    %%%%    x`gfoKkux`gfoKkux`gfoKkux`gfoKku     

Subject : HOME SCIENCE 

le; % 03 ?k.Vs  iw.kkZad % 075 

Time : 03 Hours  Maximum Marks : 075 

 

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&        

    (i)     lHkh iz’u vfuok;Z gSalHkh iz’u vfuok;Z gSalHkh iz’u vfuok;Z gSalHkh iz’u vfuok;Z gSaAAAA    

    (ii)     iz’u&i= nks [k.Mksa esa c¡Vk giz’u&i= nks [k.Mksa esa c¡Vk giz’u&i= nks [k.Mksa esa c¡Vk giz’u&i= nks [k.Mksa esa c¡Vk gS &S &S &S &    [k.M & ^v^ ,oa [k.M & ^c^[k.M & ^v^ ,oa [k.M & ^c^[k.M & ^v^ ,oa [k.M & ^c^[k.M & ^v^ ,oa [k.M & ^c^AAAA            

    (iii)     [k.M ^v^ esa fn;s x;s iz’u Øekad[k.M ^v^ esa fn;s x;s iz’u Øekad[k.M ^v^ esa fn;s x;s iz’u Øekad[k.M ^v^ esa fn;s x;s iz’u Øekad    1 ls 4 rd oLrqfu"B iz’u gSaA izR;sd iz’u ij 5 1 ls 4 rd oLrqfu"B iz’u gSaA izR;sd iz’u ij 5 1 ls 4 rd oLrqfu"B iz’u gSaA izR;sd iz’u ij 5 1 ls 4 rd oLrqfu"B iz’u gSaA izR;sd iz’u ij 5 

vad fu/kkZfjr gSaAvad fu/kkZfjr gSaAvad fu/kkZfjr gSaAvad fu/kkZfjr gSaA    

 (iv)     [k.M c esa iz’u Øekad 5 ls 23 rd iz’u gSaA[k.M c esa iz’u Øekad 5 ls 23 rd iz’u gSaA[k.M c esa iz’u Øekad 5 ls 23 rd iz’u gSaA[k.M c esa iz’u Øekad 5 ls 23 rd iz’u gSaA    

 (v)     iz’u Øekad 5 ls 11 rd iz’u Øekad 5 ls 11 rd iz’u Øekad 5 ls 11 rd iz’u Øekad 5 ls 11 rd izR;sd iz’u ds fy;s 2 vad vkoafVr gSaizR;sd iz’u ds fy;s 2 vad vkoafVr gSaizR;sd iz’u ds fy;s 2 vad vkoafVr gSaizR;sd iz’u ds fy;s 2 vad vkoafVr gSaA iz’uksa dkA iz’uksa dkA iz’uksa dkA iz’uksa dk    mÙkj mÙkj mÙkj mÙkj 

yxHkx 30 'kCnksa esa nhft,AyxHkx 30 'kCnksa esa nhft,AyxHkx 30 'kCnksa esa nhft,AyxHkx 30 'kCnksa esa nhft,A    

 (vi)     iz’u Øekad 12 ls 18 rd izR;sd iz’u ds fy;s 3 vad vkoafVr gSaA iz’uksa dk iz’u Øekad 12 ls 18 rd izR;sd iz’u ds fy;s 3 vad vkoafVr gSaA iz’uksa dk iz’u Øekad 12 ls 18 rd izR;sd iz’u ds fy;s 3 vad vkoafVr gSaA iz’uksa dk iz’u Øekad 12 ls 18 rd izR;sd iz’u ds fy;s 3 vad vkoafVr gSaA iz’uksa dk mÙkj mÙkj mÙkj mÙkj 

yxHkx 40 ls 50 'kCnksa esa nhft;sAyxHkx 40 ls 50 'kCnksa esa nhft;sAyxHkx 40 ls 50 'kCnksa esa nhft;sAyxHkx 40 ls 50 'kCnksa esa nhft;sA    

 (vii)     iz’u Øekad 19 ls 23 rd izR;sd iz’u ds fy, 4 viz’u Øekad 19 ls 23 rd izR;sd iz’u ds fy, 4 viz’u Øekad 19 ls 23 rd izR;sd iz’u ds fy, 4 viz’u Øekad 19 ls 23 rd izR;sd iz’u ds fy, 4 vad vkoafVr gSaad vkoafVr gSaad vkoafVr gSaad vkoafVr gSaAAAA    iz’uksa dk mÙkj iz’uksa dk mÙkj iz’uksa dk mÙkj iz’uksa dk mÙkj 

yxHkx 75 ls 120 'kCnksa esa nhft;sA yxHkx 75 ls 120 'kCnksa esa nhft;sA yxHkx 75 ls 120 'kCnksa esa nhft;sA yxHkx 75 ls 120 'kCnksa esa nhft;sA     

Note:-  

 (i) All questions are compulsory.  

 (ii) There are two sections ‘A’ and ‘B’  

 (iii) Section ‘A’ Question Nos. 1 to 4 are objective type. Each question is allotted 5 

marks.   

 (iv) Q. Nos. 5 to 23 of section ‘B’ 

 (v) Question Nos. 5 to 11 carry 2 marks each. Word limit 30 words.  

 (vi)  Question Nos. 12 to 18 carries 3 marks each. Word limit approve 40 to 50 words 

each.   

 (vii) Question Nos. 19 to 23 carry 4 marks each. Word limit approve 75 to 120 words 

each.   

 



[216]          Page 2 of 7                                                    

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼¼¼¼oLrqfu"B iz’uoLrqfu"B iz’uoLrqfu"B iz’uoLrqfu"B iz’u½½½½    

(Objective Type Questions) 

iz-1 lgh fodYi pqudj fyf[k,%&lgh fodYi pqudj fyf[k,%&lgh fodYi pqudj fyf[k,%&lgh fodYi pqudj fyf[k,%&    ¼5¼5¼5¼5½½½½ 

 ¼v½ ,d Mªsl fMtkbuj dj ldrk gS%&     

            (i) dsoy Lojkstxkj  

  (ii) dsoy ukSdjh  

  (iii) dksbZ Hkh jkstxkj   

  (iv) ukSdjh rFkk Lojkstxkj nksuksa   

  A dress designer can engage in:-  

  (i) Self employment only 

  (ii) Wage employment only 

  (iii) Any kind of employment  

  (iv) Both self and wage employment  

 ¼c½ LdohZ jksx fdldh deh ls gksrk gS\      

            (i) foVkfeu & ,  

  (ii) foVkfeu & ch  

  (iii) foVkfeu & lh  

  (iv) foVkfeu & Mh  

  Scurvy is caused by the deficiency of -   

  (i) Vitamin - A 

  (ii) Vitamin - B 

  (iii) Vitamin - C 

  (iv) Vitamin - D 
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 ¼l½ fuEufyf[kr esa ls xfeZ;ksa ds iz;ksx ds fy, lcls mi;qDr diM+k dkSu & lk gS\      

            (i)  lwrh  

  (ii)  uk;yksu  

  (iii) js’keh  

  (iv)  Vsjhyhu    

  Which of the fabric is most suitable for summer?  

  (i) Cotton  

  (ii) Nylon  

  (iii) Silk 

  (iv) Terelene 

 ¼n½ nks cPpksa dh vk;q esa fdruk varjky gksuk pkfg,\     

            (i) 9 ekg  

  (ii) 1 lky 

  (iii) 2 lky  

  (iv) 3 lky    

  What should be the age difference between two children?  

  (i) 9 Months 

  (ii) 1 Year 

  (iii) 2 Year 

  (iv) 3 Year 

 ¼b½ Hkkstu vf/kd ek=k essa [kjhnuk pkfg;s] ;fn vkids ikl gS &     

            (i) /ku vkSj HkaMkj.k LFkku   

  (ii) idkus dh lqfo/kk  

  (iii) HkaMkj.k LFkku  

  (iv) /ku vkSj idkus dh lqfo/kk   

  Food should be bought in large quantities only if you have-  

  (i) Money and Storage space  

  (ii) Cooking facilities  

  (iii) Storage space  

  (iv) Money and cooking facilities  
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iz-2 fjDr LFkkuksa dh iwfrZ dhft;s%& ¼5½¼5½¼5½¼5½    

    ¼v½ x`g foKku dk vFkZ  -------------------------------------------------------------------------------------------ds izca/ku dh dyk gSA 

 ¼c½ foVkfeu ^,^ dk dk;Z gksrk gS gekjh  ------------------------------------------------------------------------dks LoLFk j[kukA 

 ¼l½ ;fn jaxhu diM+s dk jax fudys rks mls --------------------------------------------------------------ikuh esa /kksuk pkfg,A 

 ¼n½ ,dy ifjokjksa esa cPpksa esa -----------------------------------------------------------------------------------------------------------------vkrh gSA 

 ¼b½ Hkkstu esa feykoV de djrh gS Hkkstu dh -----------------------------------------------------------------------------------------dksA 

 Fill in the blank: - 

 (a) Home Science means the art of managing your ……………………………………………  

 (b) One function of vitamin A is to keep our ……………………………….……....……healthy. 

 (c) If the Coloured Clothes become discoloured then they should we washed with 

………………………………………………………………………………....……………water.     

 (d) Nuclear family encourages ……………………………….………………… in the children.   

 (e) Adulteration of ford reduces the …………………………………………………..of food.  

iz-3 ,d okD; esa mÙkj nhft,%& ¼5½¼5½¼5½¼5½    

    ¼v½ larqfyr vkgkj fdls dgrs gSa\  

 ¼c½ be’kZu jkWM dk D;k mi;ksx gS\ 

 ¼l½ ^,M~l^ dk iwjk uke fyf[k;sA 

 ¼n½ fd’kksjkoLFkk dh ifjHkk"kk fyf[k;sA 

 ¼b½ ekudhdj.k fpUg D;k gS\  

 Write the answer in one sentence: -  

 (a) What is Balanced diet?   

 (b) What is the use of Immersion Rod? 

 (c) Write the full name of ‘AIDS’.      

 (d) Write the definition of Adolescence. 

 (e) What is standardization Mark?  
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iz-4 lgh tksM+h cukb;s%& ¼5½¼5½¼5½¼5½    

   ^v^     ^c^ 

 ¼v½ futZyhdj.k   ¼v½ Mk;fcVht ¼e/kqesg½ 

 ¼c½ lQkbZ     ¼c½ [ksljh nky 

 ¼l½ xSj laØked jksx   ¼l½ rsy 

 ¼n½ F. P. O    ¼n½ ikiM+ 

 ¼b½ i{kk?kkr    ¼b½ Vk;QkbM 

      ¼bZ½ tSe 

      ¼m½ diMs+ ls nkx o xanxh gVkrk gSA  

 Match the Columns:-  

   ‘A’       ‘B’ 

 (a) Dehydration     (a) Diabetes  

 (b) Cleaning      (b) Kesari dal 

 (c) Non – Communicable diseases  (c) Oil 

 (d) F. P. O      (d) Pappad  

 (e) Paralysis      (e) Typhoid 

        (f) Jam 

         (g) Removes dirt and stains from fabrics.  

 

[k.M & c[k.M & c[k.M & c[k.M & c    

SECTION - B 

iz-5 izksVhu ds dksbZ nks eq[; dk;Z fyf[k,A ¼2½¼2½¼2½¼2½    

 Write any two main functions of proteins.  
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iz-6 Hkki }kjk Hkkstu idkus ls D;k ykHk gSa\ ¼2½¼2½¼2½¼2½    

 What are the advantages of cooking food with steam?  

iz-7 diM+ksa dh /kqykbZ D;ksa vko’;d gS\ ¼2½¼2½¼2½¼2½    

 Why is it important of launder clothes?   

iz-8 ty iznw"k.k jksdus ds dksbZ pkj mik; fyf[k;sA  ¼2½¼2½¼2½¼2½    

 Write any four precautions to prevent water pollution.   

iz-9  ifjokj ds dksbZ nks dk;Z fyf[k;sA ¼2½¼2½¼2½¼2½    

 Write any two functions of family.  

iz-10 le; ;kstuk ds dksbZ nks ykHk fyf[k;sA ¼2½¼2½¼2½¼2½    

 Write any two advantages of time planning.   

iz-11 feykoV fdls dgrs gSa\ ¼2½¼2½¼2½¼2½    

 What is Adulteration?   

iz-12 Hkkstu xzg.k djus ds eq[; dkj.k D;k gSa\ ¼3¼3¼3¼3½½½½    

 What are the main reasons for eating food?  

iz-13 mRifÙk ds vk/kkj ij js’kksa dk oxhZdj.k dhft;sA ¼3¼3¼3¼3½½½½    

 Write the classification of fibres on the basis of origin.  

iz-14 LokLF; dks izHkkfor djus okys dksbZ rhu dkjdksa dks le>kb;sA ¼3¼3¼3¼3½½½½    

 Explain any three factors affecting the health.  

iz-15 lalk/ku fdrus izdkj ds gksrs gSa\ mnkgj.k lfgr fyf[k;sA ¼3¼3¼3¼3½½½½    

 How many types of Resources? Write with examples.    

iz-16 ctV cukrs le; fdu ckrksa dk /;ku j[kuk pkfg;s\ ¼3¼3¼3¼3½½½½    

 What things should be kept in mind while making Budget?  
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iz-17 cksry ds nw/k ds ctk; ek¡ dk nw/k fiykus ds D;k ykHk gSa\  ¼3¼3¼3¼3½½½½    

 Explain why breast feeding is better than bottle feeding.   

iz-18 nokbZ [kjhnrs le; fdu ckrksa dk /;ku j[kuk pkfg;s\ ¼3¼3¼3¼3½½½½    

 What things should be kept in mind while purchasing Medicines?   

iz-19 fÝt dk mi;ksx djrs le; D;k lko/kkfu;k¡ j[kuh pkfg,\ ¼4¼4¼4¼4½½½½    

 What precautions should be taken while using a Refrigerator?   

iz-20 ^,M~l^ jksx QSyus ds dkj.k fyf[k;sA ¼¼¼¼4444½½½½    

 Write the causes of spreading ‘AIDS’.  

iz-21 Hkkstu idkrs le; fdu ckrksa dk /;ku j[kuk pkfg;sA ¼¼¼¼4444½½½½    

 What things should be kept in mind while cooking the food? 

iz-22 cky fodkl ds fdUgha pkj fl)kUrksa dks le>kb;sA ¼¼¼¼4444½½½½    

 Explain any four principles of child development.    

iz-23 cpr dk egRo le>kb;sA  ¼¼¼¼4444½½½½    

 Explain the importance of saving.   

 

&&&&&&&&&&&&&&&&&&&&& 

 


